
MATHS

BOOKS - OBJECTIVE RD SHARMA MATHS VOL I (HINGLISH)

REAL FUNCTIONS

Illustration

1. If , such that , then 

A. 1

B. 3

C. -3

D. -1

Answer: B

W h Vid S l i

f(x) = x +
1

x
f 3(x) = f(x3) + λf( )

1

x
λ =

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wf6EvlbMImic


Watch Video Solution

2. If 
 
 (b) 
 
 increases with 


 
is a rational function of 

A. x=f(y)

B. f(1)=3

C. y increases with x for 

D. f is a rational function of x

Answer: A

Watch Video Solution

y = f(x) = , then
(x + 2)

(x − 1)
x = f(y) f(1) = 3 y

xf or x < 1 f x

x < 1

3. If , then 

A. 1

B. 0

f(x) = cos(logx) f(x)f(y) − [f( ) + f(xy)] =
1

2
x

y

https://dl.doubtnut.com/l/_wf6EvlbMImic
https://dl.doubtnut.com/l/_7deZztu9c8GS
https://dl.doubtnut.com/l/_D6Z4N2ffgYMw


C. -1

D. none of these

Answer: B

Watch Video Solution

4. Let . If f(x)=  is such that a+b+c=3 

 then  is equal to

A. 190

B. 255

C. 330

D. 165

Answer: C

Watch Video Solution

a, b, c ∈ R ax2 + bx + c

f(x + y) = f(x) + f(y) + xy∀x, y ∈ R
10

∑
n= 1

f(n)

https://dl.doubtnut.com/l/_D6Z4N2ffgYMw
https://dl.doubtnut.com/l/_NrnUcHeaa5Pk
https://dl.doubtnut.com/l/_nlmOPwYjDyyc


5. if for nonzero x, , where  then f(2) =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

af(x) + bf( ) = − 5
1

x

1

x
a ≠ b

3(2b + 3a)

2(a2 − b2)

3(2b − 3a)

2(a2 − b2)

3(3a − 2b)

2(a2 − b2)

6

a + b

6. If then  is equal

to

A. a+b

B. 

C. 

af(x + 1) + bf( ) = x, x ≠ − 1, a ≠ b,
1

x + 1
f(2)

a2 − b2

1

a + b

https://dl.doubtnut.com/l/_nlmOPwYjDyyc
https://dl.doubtnut.com/l/_ySuN5tzzmcCh


D. none of these

Answer: D

Watch Video Solution

7. If  is defined on  by the rule  if  is rational ,

 if  is rational ' then for all  ,  is

A. x

B. 

C. 

D. 1-x

Answer: A

Watch Video Solution

f(x) [0, 1] f(x) = {x, x

1 − x, x x ∈ [0, 1] f(f(x))

−x

1 + x

https://dl.doubtnut.com/l/_ySuN5tzzmcCh
https://dl.doubtnut.com/l/_UxiwoQBIuC5C


8. If  is a polynomial satisfying  and 

 then 

A. 63

B. 65

C. 66

D. 27

Answer: B

Watch Video Solution

f(x) f(x)f( ) = f(x) + f( )
1

x

1

x

f(3) = 28 f(4) =

9. If  is a polynomial satisfying 

for all real  and  and  then  is

A. 6

B. 25

C. 24

g(x) g(x)g(y) = g(x) + g(y) + g(xy) − 2

x y g(2) = 5 lim
x→ 3

g(x)

https://dl.doubtnut.com/l/_s1AMNcAoKDPC
https://dl.doubtnut.com/l/_TuigFtYG7n1W


D. 26

Answer: D

Watch Video Solution

10. If  for  ,then 

A. x

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3f(x) − f( ) = loge x
41

x
x > 0

f(ex) =

loge x

ex

https://dl.doubtnut.com/l/_TuigFtYG7n1W
https://dl.doubtnut.com/l/_h5QnH9qWoYez


11. If , and 

then S:

A. is an empty set

B. contains exactly one element

C. Contains exactly two elements .

D. contains more than two elements

Answer: C

Watch Video Solution

f(x) + 2f( ) = 3x, x ≠ 0
1

x
S = {x ∈ R : f(x) = f( − x)},

12. If ,then  (x) is equal to

A. 

B. 

C. 

f(x) =
x

x − 1
(fofofo…of)

19times

x

x − 1

( )
19

x

x − 1

19x

x − 1

https://dl.doubtnut.com/l/_pu5WNCL6C21M
https://dl.doubtnut.com/l/_scxRZdo97TYx


D. 

Answer: A

Watch Video Solution

x

13. For  let 

 Then the

value of  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x ∈ R, x ≠ 0, 1,

f0(x) = and fn+ 1(x) = f0(fn(x)), n = 0, 1, 2…. .
1

1 − x

f100(3) + f1( ) + f2( )
2

3

3

2

4
3

1

3

5

3

8

3

https://dl.doubtnut.com/l/_scxRZdo97TYx
https://dl.doubtnut.com/l/_8yaTJYlRD4r3
https://dl.doubtnut.com/l/_1wBrXZBse93V


14. Let f be a real valued function satisfying  for

all . Then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x + y) = f(x) + f(y)

x, y ∈ R and f(1) = 2
n

∑
k= 1

f(k) =

n(n + 1)

2

n(n + 1))

(n + 1)

n

15. Let f be a real valued function satisfying 

 for all  such that . 

Then , 

A. 

B. 

f(x + y) = f(x)f(y) x, y ∈ R f(1) = 2

n

∑
k= 1

f(k) =

2n+ 1 − 2

2n+ 1 − 1

https://dl.doubtnut.com/l/_1wBrXZBse93V
https://dl.doubtnut.com/l/_2l5QISDpHYbE


C. 

D. 

Answer: A

Watch Video Solution

2n − 1)

2n − 2

16. Let f be a real valued function satisfying  for all

 such that f(1)=2 . 

If , then a=

A. 3

B. 4

C. 2

D. none of these

Answer: A

Watch Video Solution

f(x + y) = f(x)f(y)

x, y ∈ R

n

∑
k= 1

f(a + k) = 16(2n − 1)

https://dl.doubtnut.com/l/_2l5QISDpHYbE
https://dl.doubtnut.com/l/_xYSQW9xElEom


17. Let  be given by 

 for all  . Then ,

A. f(x) is periodic

B. f(x) is even

C. 

D. none of these

Answer: C

Watch Video Solution

f :R → R

f(x + ) + f(x) = f(x + ) + f(x + )
5

6

1

2

1

3
x ∈ R

f(x + 2) − f(x + 1) = f(x + 1) − f(x)

18. A real valued function f(x) satisfies the functional equation

, where a is a given constant

and f(0), f(2a-x) =

A. f(-x)

f(x − y) = f(x)f(y) − f(a − x)f(a + y)

https://dl.doubtnut.com/l/_xYSQW9xElEom
https://dl.doubtnut.com/l/_46GCIoaWTmOO
https://dl.doubtnut.com/l/_enAAPxCGFE85


B. f(a)+f(a-x)

C. f(x)

D. 

Answer: D

Watch Video Solution

−f(x)

19. The domain [प्रांत ] of the function  is

A. 

B. [-1,1]

C. 

D. 

Answer: D

Watch Video Solution

f(x) = √x − √1 − x2

[1, − 1/√2)] ∪ [1/√2, 1]

( − ∞, − 1/2) ∪ [1/√2, ∞)

[1/√2, 1]

https://dl.doubtnut.com/l/_enAAPxCGFE85
https://dl.doubtnut.com/l/_PMcOorwtZUcb
https://dl.doubtnut.com/l/_WRPL0Endn39G


20. The domain [प्रान्त] of the function  , is

A. 

B. 

C. 

D. `[-1,1]

Answer: D

Watch Video Solution

f(x) = √1 − √1 − √1 − x2

( − ∞, 1)

( − 1, ∞)

[0, 1]

21. The domain [प्रान्त] of the function 

 , is

A. [2,3]

B. [-2,4]

C. [-2,2]  [3,4]

D. [-2,1] [2,4]

f(x) = √x2 − 5x + 6 + √2x + 8 − x2

∪

∪

https://dl.doubtnut.com/l/_WRPL0Endn39G
https://dl.doubtnut.com/l/_5iNR2sxodEzV


Answer: C

Watch Video Solution

22. The domain of definiton of the function

 , is

A. 

B. 

C. 

D. R

Answer: D

Watch Video Solution

f(x) =
1

√x12 − x9 + x4 − x + 1

( − ∞, − 1)

(1, ∞)

( − 1, 1)

23. The domain [प्रान्त] of , is [.]=GIFf(x) =
1

√[x]
2

− [x] − 6

https://dl.doubtnut.com/l/_5iNR2sxodEzV
https://dl.doubtnut.com/l/_S2dp177dtJt8
https://dl.doubtnut.com/l/_4ImpFINx2G4T


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

( − ∞, − 2) ∪ [4, ∞)

( − ∞, − 2] ∪ [4, ∞)

( − ∞, − 2) ∪ (4, ∞)

24. Find the domain of 

 , is

A. 

B. 

C. 

D. none of these

Answer: C

f(x) = √
1 − |x|

2 − |x|

( − ∞, ∞) − [ − 2, 2]

( − ∞, ∞) − [ − 1, 1]

[ − 1, 1] ∪ ( − ∞, − 2) ∪ (2, ∞)

https://dl.doubtnut.com/l/_4ImpFINx2G4T
https://dl.doubtnut.com/l/_HlQm61gByIph


Watch Video Solution

25. The range [ परिसर ] of the function  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
x

1 + x2

[0, 1/2]

[ − 1/2, 1/2]

[ − 1/2, 0]

[ − 1/2, 0) ∪ (0, 1/2]

26. The range of the function  is

A. 

B. 

C. 

f(x) = x2 +
1

x2 + 1

[1, ∞)

[2, ∞)

[3/2, ∞)

https://dl.doubtnut.com/l/_HlQm61gByIph
https://dl.doubtnut.com/l/_0f6CmK1C0nBD
https://dl.doubtnut.com/l/_GDEGcmCC7HzG


D. none of these

Answer: A

Watch Video Solution

27. Range of the function  is equal to

A. (0,1)

B. [0,1]

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
1 + x2

x2

(1, ∞)

[1, ∞)

28. Range of the function  isf(x) =
x2 − 3x + 2

x2 + x − 6

https://dl.doubtnut.com/l/_GDEGcmCC7HzG
https://dl.doubtnut.com/l/_HAWgJ0ntFRRq
https://dl.doubtnut.com/l/_ccHfRbcqR5XG


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

R − {1/5, 1}

R − { }
1

5

R − {1}

R

29. Range[परिसर] of the function  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = loge √4 − x2

(0, ∞)

( − ∞, ∞)

( − ∞, loge 2]

(loge 2, ∞)

https://dl.doubtnut.com/l/_ccHfRbcqR5XG
https://dl.doubtnut.com/l/_h86TG76GHwPR


30. If 
where GIF, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = cos[π2]x + cos[ − π2]x, [x] =

f( ) = − 1
π

2

f(π) = 1

f( − π) = − 1

f( ) = 2
π

4

31. Let , where [x] denotes the greater integer

than or equal to x , then

A.  for all 

B.  only for two real values of x

C.  for infinity many values of x

f(x) = [x2] + [x + 2] − 8

f(x) ≠ 0 x ∈ R

f(x) = 0

f(x) = 0

https://dl.doubtnut.com/l/_h86TG76GHwPR
https://dl.doubtnut.com/l/_WZmlluZpqtKq
https://dl.doubtnut.com/l/_OJkuvx7MmK7d


D. none of these

Answer: C

Watch Video Solution

32. For a real number  denotes greatest integer function, then find

value of 

A. 49

B. 50

C. 48

D. 51

Answer: B

Watch Video Solution

x, [x]

[ ] + [ + ] + [ + ] + .... + [ + ]
1

2

1

2

1

100

1

2

2

100

1

2

99

100

https://dl.doubtnut.com/l/_OJkuvx7MmK7d
https://dl.doubtnut.com/l/_H6GWhYsyaONh


33. Prove that for 



 where 

represents Greatest Integer Function

A. n

B. n-1

C. n+1

D. n+2

Answer: A

Watch Video Solution

n = 1, 2, 3...

[ ] + [ ] + [ ] + [ ] + ... = n
n + 1

2

n + 2

4
n + 4

8

n + 8

16
[x]

34. If f(x) and [x] denote respectively the fractional and integeral parts of

a real number x, then the number of solution of the euation 4{x}=x+[x] , is

A. 1

B. 2

https://dl.doubtnut.com/l/_ZbL37xmktwyl
https://dl.doubtnut.com/l/_Lv5kjebwZLsi


C. 3

D. infinitely many

Answer: B

Watch Video Solution

35. The number of integral solutions of the equation {x+1}+2x=4[x+1]-6 , is

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Lv5kjebwZLsi
https://dl.doubtnut.com/l/_Fk4wjCdtF4Yg


36. Let

then for all  is equal to (i) x
(ii) 1
(iii) f(x)
(iv) g(x)

A. x

B. 1

C. f(x)

D. g(x)

Answer: B

Watch Video Solution

g(x) = 1 = x − [x] and f(x) = { − 1, x < 0, 0, x = 0 and 1, x > 0,

x, f(g(x))

37. The domain of function   is:

A. 

B. 

C. 

f(x) = ;
cos − 1 x

[x]
[x] = GIF

[ − 1, 1]

[ − 1, 1] − {0}

[ − 1, 0) ∪ {1}

https://dl.doubtnut.com/l/_s2AwWn0XAuAE
https://dl.doubtnut.com/l/_QXuk3rTxWgLH


D. 

Answer: C

Watch Video Solution

[ − 1, 0)

38. The domain of the function 

, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) =
1

√|x| − x

(0, ∞)

( − ∞, 0)

R − {0}

https://dl.doubtnut.com/l/_QXuk3rTxWgLH
https://dl.doubtnut.com/l/_JMuhga9awa62


39. Find domain of the function 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = + √x + 2
1

log10(1 − x)

[ − 2, 1)

[ − 2, ∞)

( − ∞, 1)

[ − 2, 0) ∪ (0, 1)

40. Find the domain of the function

A. 

B. 

C. 

f(x) = √1 − 2x + 3 sin− 1( )
3x − 1

2

[ − 1/3, 1]

( − ∞, 1/2]

[ − 1/3, 1/2]

https://dl.doubtnut.com/l/_0FPeBv1EByil
https://dl.doubtnut.com/l/_LN3BU23wYqf9


D. 

Answer: C

Watch Video Solution

[ − 1/3, 1/2)

41. The domain of the function  is

A. [-1,1]

B. R-{0}

C. 

D. none of these

Answer: D

Watch Video Solution

ψ(x) = + 2sin − 1 x +
1

x

1

√x − 2

[ − 1, 0) ∪ (0, 1]

https://dl.doubtnut.com/l/_LN3BU23wYqf9
https://dl.doubtnut.com/l/_yyaxg6eVb1uS


42. The domain of definition of the function 

, is

A. 

B. [1,2[

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) = sin− 1{log2( )}
x2

2

[ − 2, − 1]

[ − 2, − 1] ∪ [1, 2]

43. The domain of the function 

 , is

A. 

B. 

C. 

f(x) = √log2 sinx

{(2n + 1) : n ∈ Z}
π

2

: n ∈ Z}
(4n + 1)π

2

{(3n − 1) : n ∈ Z}
π

2

https://dl.doubtnut.com/l/_yOTNfLiq271U
https://dl.doubtnut.com/l/_sBgzAW3YD3bn


D. 

Answer: B

Watch Video Solution

{ : n ∈ Z}
nπ

2

44. Find the domain of function

A. (8,10)

B. [8,10]

C. 

D. 

Answer: A

Watch Video Solution

f(x) = (log)4[(log)5{(log)3(18x − x2 − 77}]

( − ∞, 8]

[10, ∞)

https://dl.doubtnut.com/l/_sBgzAW3YD3bn
https://dl.doubtnut.com/l/_gHkXqS2uzX5y


45. The function  is a periodic with period.

A. 1

B. 2

C. 3

D. none of these

Answer: A

Watch Video Solution

f(x) = x − [x]

46. Let 
 be periodic and 
 be a positive real number such that


 Prove that 
 is periodic with

period 

A. k

B. 2k

C. 

f(x) k

f(x + k) + f(x) = 0f or allx ∈ R. f(x)

2k.

k

2

https://dl.doubtnut.com/l/_hwOqO4iWtskX
https://dl.doubtnut.com/l/_EC2slzxsXoFc


D. none of these

Answer: B

Watch Video Solution

47. If f is a function of real variable x satisfying

 , then f is periodic function with

period:

A. 6

B. 8

C. 10

D. 12

Answer: D

Watch Video Solution

f(x + 4) − f(x + 2) + f(x) = 0

https://dl.doubtnut.com/l/_EC2slzxsXoFc
https://dl.doubtnut.com/l/_jpqxA2droiPf
https://dl.doubtnut.com/l/_iVIrPXKWgv7O


48. The function f(x) satisfies the equation

. then the period of f(x) is

A. 2

B. 6

C. 12

D. 4

Answer: C

Watch Video Solution

f(x + 1) + f(x − 1) = √3f(x)

49. Let f(x) be a real valued periodic function with domain R such that 

 hold good for all

 and some positive constant p, then the periodic of f(x) is

A. p

B. 3p

f(x + p) = 1 + [2 − 3f(x) + 3(f(x))
2

− (f(x))
3]

1 / 3

x ∈ R

https://dl.doubtnut.com/l/_iVIrPXKWgv7O
https://dl.doubtnut.com/l/_kRo3sXk6WKfL


C. 2p

D. 

Answer: C

Watch Video Solution

p2

50. The period of the function 

 , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = |sinx| − |cos x|

π/2

π

2π

https://dl.doubtnut.com/l/_kRo3sXk6WKfL
https://dl.doubtnut.com/l/_RbQUQNINP4qL
https://dl.doubtnut.com/l/_5ENB6A9Sr07b


51. The period of the function 

 , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = ||sinx| − |cos x ∣ ∣

π

2

π

2π

52. If 
 is a periodic function, show that 
 is a

rational number

A. 

B. 

C. 

f(x) = sinx + cos ax a

a ∈ Z

a ∈ N

a ∈ Q

https://dl.doubtnut.com/l/_5ENB6A9Sr07b
https://dl.doubtnut.com/l/_sHHiXw6Q1CDA


D. 

Answer: C

Watch Video Solution

a ∈ R

53. The period of  is

A. 

B. 

C. 

D. None

Answer: D

Watch Video Solution

cos x2

π

π

2

2π

https://dl.doubtnut.com/l/_sHHiXw6Q1CDA
https://dl.doubtnut.com/l/_ETobGfJwWHBB


54. Let f be a real valued periodic function defined for all real umbers x

such that for some fixed  ,  for

all x . 

Then , the period of f(x) is

A. a

B. 2a

C. 3a

D. 4a

Answer: B

Watch Video Solution

a > 0 f(x + a) = + √f(x) − {f(x)}21

2

55. Let f(x, y) be a periodic function satisfying

 for all x, y; Define . Show

that g(x) is a periodic function with period 12.

f(x, y) = f(2x + 2y, 2y − 2x) g(x) = f(2x, 0)

https://dl.doubtnut.com/l/_yrEyZkHQLafN
https://dl.doubtnut.com/l/_DdbU2yO3DYOg


A. 2

B. 4

C. 6

D. 12

Answer: D

Watch Video Solution

56. If 
 is a function satisfying the property 


 then find the fundamental period

of 

A. 2

B. 4

C. 8

D. 12

f :R
→
R

f(2x + 3) + f(2x + 7) = 2 ∀x ∈ R,

f(x).

https://dl.doubtnut.com/l/_DdbU2yO3DYOg
https://dl.doubtnut.com/l/_LitjSBGeR7Vl


Answer: C

Watch Video Solution

57. If f is a periodic function and g is a non-periodic function , then

A. fog is always periodic

B. gof is never periodic

C. gof is always periodic

D. none of these

Answer: C

Watch Video Solution

58. Let , be a periodic function such that  is an

infinite set then, the period of f(x) cannot be

f :R → R {f(x) : x ∈ N}

https://dl.doubtnut.com/l/_LitjSBGeR7Vl
https://dl.doubtnut.com/l/_A7XxiXapXLxs
https://dl.doubtnut.com/l/_xh9pUbuaxgKf


A. a rational

B. an irrational

C. e

D. 

Answer: A

Watch Video Solution

π

59. The period of  , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin2 x

2π

π

π

2

4π

https://dl.doubtnut.com/l/_xh9pUbuaxgKf
https://dl.doubtnut.com/l/_PrYzrRV13Age


60. The period of , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

|cos x|

π

2

2π

π

61. the period of the  is

A. 

B. 

C. 

f(x) = sin4 x + cos4 x

π

2π

4π

https://dl.doubtnut.com/l/_PrYzrRV13Age
https://dl.doubtnut.com/l/_1VC61uuPUE9I
https://dl.doubtnut.com/l/_qKaSgY83j4Re


D. 

Answer: D

Watch Video Solution

π

2

62. The period of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = sin( )
sin(x)

5

2π

2π

5

10π

π

63. The periodic function  isf(x) = a sinλx + b cos λx

https://dl.doubtnut.com/l/_qKaSgY83j4Re
https://dl.doubtnut.com/l/_jIG6ApeMqnGd
https://dl.doubtnut.com/l/_LJParCUQJv4y


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2π

λ

π

λ

2π

|λ|

π

|λ|

64. The period of , is

A. 3

B. 4

C. 6

D. 12

Answer: D

Watch Video Solution

f(x) = sin + cos
2πx

3
πx

2

https://dl.doubtnut.com/l/_LJParCUQJv4y
https://dl.doubtnut.com/l/_VSu2Sjo1HAaa


65. Find the period of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = sinx + + + tan + + +
tanx

2

sinx

22

x

23

sinx

2n− 1

tanx

2n

2π

2n− 1π

2nπ

nπ

66. The period of f(x)=5 sin 3x-7 sin 8x , is

A. 

B. 

C. 

π

2π

3π

https://dl.doubtnut.com/l/_VSu2Sjo1HAaa
https://dl.doubtnut.com/l/_wpkifEX75YAd
https://dl.doubtnut.com/l/_insdBXYsUccW


D. 

Answer: B

Watch Video Solution

8π

67. The period of  ,is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = tan 3x + cos
5x

2

2π

6π

4π

10π

68. The period of  , isf(x) = cos x + {x}

https://dl.doubtnut.com/l/_insdBXYsUccW
https://dl.doubtnut.com/l/_4Hw3XkcAT8kO
https://dl.doubtnut.com/l/_m4sb9sdsnRLi


A. 

B. 

C. 

D. none- existent

Answer: D

Watch Video Solution

2π

1

π

69. Identify the correct statement the fundamental period of

 is 

A. 

B. 

C. 

D. 

Answer: C

f(x) = cos(sinx) + cos(cos x) π

π

2π

π/2

4π

https://dl.doubtnut.com/l/_m4sb9sdsnRLi
https://dl.doubtnut.com/l/_m9ff3HiOTpnW


Watch Video Solution

70. The period of the function  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = |sinx| + |cos x|

π

π

2

2π

71. The period of 

, is

A. 

B. 

f(x) = { + }
1

2

|sinx|

cos x

|cos|

sinx

π

π

2

https://dl.doubtnut.com/l/_m9ff3HiOTpnW
https://dl.doubtnut.com/l/_EFBVZ0BL2RfL
https://dl.doubtnut.com/l/_QVKHsXgxnEIm


C. 

D. none of these

Answer: C

Watch Video Solution

2π

72. The function  , is

A. periodic with period 

B. periodic with period 

C. periodic with period 

D. non-periodic

Answer: A

Watch Video Solution

f(x) = sin− 1(sinx)

2π

π

π

2

https://dl.doubtnut.com/l/_QVKHsXgxnEIm
https://dl.doubtnut.com/l/_z4CSiGWAoN6R


73. Let 
 denotes the greatest integer less than or equal to 
 . If the

function 
has period 
then find the value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[x] x

f(x) = tan(√[n]x) .
π

3
n.

n ∈ (1, 3)

n ∈ (9, 10)

n ∈ [9, 10)

n ∈ [9, ∞)

74. Let  (where [ ] denotes the greatest integer

function). If f is periodic with fundamental period , then a belongs to

A. 

B. 

C. 

f(x) = sin√[a]x

π

λ ∈ [4, 5)

λ ∈ [4, 5]

λ = 4, 5

https://dl.doubtnut.com/l/_gYQZZR7vFdJU
https://dl.doubtnut.com/l/_ClOkZbDn69ul


D. none of these

Answer: A

Watch Video Solution

75. Which of the following functions is non-periodic? (1)  (2) 


(3)  (4) 

A. f(x) = tan (3x+5)

B. g(x)={x}, the fractional part of x

C. 

D. 

Answer: D

Watch Video Solution

=
2x

2x

sin− 1({x}) sin− 1(√cos x) sin− 1(cos x2)

f(x) = 1 − −
cos2 x

1 + tanx
sin2

1 + cot x

ϕ(x) = x + cos x

https://dl.doubtnut.com/l/_ClOkZbDn69ul
https://dl.doubtnut.com/l/_QO1QKBVFzDh4


76. The period of the function 

, 

is ( where {x} denotes the functional part of x)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = cos 2π{2x} + sin 2π{2x}

1

π

2

1

2

π

77. The period of 

, is

A. 

B. 

f(x) = { + }
1

2

|sinx|

cos x

|cos|

sinx

2π

π

https://dl.doubtnut.com/l/_AhyyJOg5jEW0
https://dl.doubtnut.com/l/_PimXQbc45EQB


C. 

D. 

Answer: A

Watch Video Solution

π

2

π

4

78. The function  , is

A. a periodic function with period 

B. a periodic function with period 

C. a periodic function with period 

D. not a periodic function

Answer: D

Watch Video Solution

f(x) = 2 cos 5x + 3 sin √5x

2π

2π

5

2π

√5

https://dl.doubtnut.com/l/_PimXQbc45EQB
https://dl.doubtnut.com/l/_LooPlqhpKC3N


79. If  has a period =  then find the

value of 

A. 

B. 2

C. 3

D. none of these

Answer: A

Watch Video Solution

f(x) = λ|sinx| + λ2|cos x| + g(λ)
π

2

λ

1

80. The period of the fuction 

 , is

A. 

B. 

C. 

f(x) = sin( ) + cos( )
πx

n !

πx

(n + 1) !

2 × (n + 1) !

2(n !)

n + 1

https://dl.doubtnut.com/l/_c0G22imoEB1d
https://dl.doubtnut.com/l/_LN8hcMdAOzwf


D. none of these

Answer: A

Watch Video Solution

81. The function , where {x}= the fractional part of x ,

is a

A. periodic function with period 

B. periodic function with period 1

C. periodic function with indeterminate period

D. none of these

Answer: D

Watch Video Solution

f(x) = cos + {x}
x

2

4π

https://dl.doubtnut.com/l/_LN8hcMdAOzwf
https://dl.doubtnut.com/l/_OFHf7KSNxZCS


82. The function  is a

A. periodic function with period 1

B. periodic function with period 1/2

C. non-periodic function

D. periodic function with period 2

Answer: A

Watch Video Solution

f(x) = min {x − [x], − x − | − x|}

83. If [x] denotes the greatest integer less than or equal to

 then  , is

A. a periodic function with period 1

B. a periodic function with period 4 .

C. not periodic

D. a periodic function with period 2.

x and n ∈ N, f(X) = nx + n − [nx + n] + tan
πx

2

https://dl.doubtnut.com/l/_iT5cQz1MfHxX
https://dl.doubtnut.com/l/_gf8QHJl99EJH


Answer: D

Watch Video Solution

84. Let  has  as its fundamental period ,

then n=

A. 2

B. 4

C. 6

D. none of these

Answer: C

Watch Video Solution

f(x) = , n ∈ N
sin 2nx

1 + cos2 nx

π

6

85. Which of the following functions is an odd functions ?

https://dl.doubtnut.com/l/_gf8QHJl99EJH
https://dl.doubtnut.com/l/_jGeLHjHTeoRb
https://dl.doubtnut.com/l/_Vc5Yw216kJYI


A. 

B. 

C. 

D. f(x)=k (constant )

Answer: A

Watch Video Solution

f(x) = √1 + x + x2 − √1 − x + x2

f(x) = x( )
ax + 1
ax − 1

f(x) = log10( )
1 − x2

1 + x2

86. Which of the following functions is an odd functions ?

A. = const

B. f(x)=sinx+ cosx

C. 

D. 

Answer: C

Watch Video Solution

f(x)

f(x) = sin{log10(x + √x2 + 1)}

f(x) = 1 + x + 2x2

https://dl.doubtnut.com/l/_Vc5Yw216kJYI
https://dl.doubtnut.com/l/_dkOU3rhcntvH


87. If f is an even function defined on the interval  then find the

total number of real values of x satisfying the equations

 are

A. 1

B. 2

C. 4

D. none of these

Answer: C

Watch Video Solution

( − 5, 5)

f(x) = f( )
x + 1

x + 2

88. The function f(x) given by 

A. an odd function

f(x) = {
x4 tan |x| < 1

x|x| |x| ≥ 1
is

πx

2

https://dl.doubtnut.com/l/_dkOU3rhcntvH
https://dl.doubtnut.com/l/_wSRKJuQBtce9
https://dl.doubtnut.com/l/_uYyuWKWHOB5O


B. an even function

C. a periodic function with period 

D. none of these

Answer: A

Watch Video Solution

2π

√5

89. If a real valued function  satisfies the equation

 for all  then  is

A. a periodic function

B. an even function

C. an odd function

D. none of these

Answer: C

Watch Video Solution

f(x)

f(x + y) = f(x) + f(y) x, y ∈ R f(x)

https://dl.doubtnut.com/l/_uYyuWKWHOB5O
https://dl.doubtnut.com/l/_OdDFAm8h4Va3


90. A function whose graph is symmetrical in opposite quadrants is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = ex + e−x

f(x) = loge x

f(x + y) = f(x) + f(y)

f(x) = cos(x) + sinx

91. A function whose graph is symmetrical about y-axis is

A. 

B. 

C. 

D. 

f(x) = x( )
3x − 1

3x − 1

f(x) = log2(x + √x2 + 1)

f(x + y) = f(x) + f(y)

f(x) = sinx + cos x

https://dl.doubtnut.com/l/_OdDFAm8h4Va3
https://dl.doubtnut.com/l/_PNNJVmcnbtbj
https://dl.doubtnut.com/l/_xDKQHHIaed0y


Answer: A

Watch Video Solution

92. A function f(x) given by 

A. an even function

B. an odd function

C. a periodic function

D. none of these

Answer: B

Watch Video Solution

f(x) = {
x2 sin |x| < 1

x|x| |x| ≥ 1
is

πx

2

93. If f(x) is a real valued odd function , then which one of the following is

incorrect ?

https://dl.doubtnut.com/l/_xDKQHHIaed0y
https://dl.doubtnut.com/l/_pnK5dhXf4eBY
https://dl.doubtnut.com/l/_4jbXH64BeVZL


A.  is an odd function.

B.  is an even function.

C.  is an even function,  denotes the greatest integer

function.

D.  is neither even nor odd.

Answer: D

Watch Video Solution

f(x) − f − ( − x)

2

f(x) + f( − x)

2

[|f(x)| + 2] [ ⋅ ]

f(x) − f( − x)

2

94. If  given by  is an

even function. Then the set of values of  is Here,  denotes

the greatest integer function.

A. -{0}

B. 

C. 

f : [ − π/2, π/2] ∪ R f(x) = cos x + sin[ ]
x + 1

λ

λ(λ > 0) [ ⋅ ]

( , )
−π

2

π

2

( , ∞)
π + 2

2

(0, ) ∪ ( , ∞)
π + 2

2

π + 2

2

https://dl.doubtnut.com/l/_4jbXH64BeVZL
https://dl.doubtnut.com/l/_1GC78hS9Y9xw


D. 

Answer: B

Watch Video Solution

( , ) − {0}
−π

2

π + 2

2

95. If  is an odd periodic function with period 2, then f(4) equals to-

A. 

B. 4

C. 2

D. 0

Answer: D

Watch Video Solution

f(x)

−4

https://dl.doubtnut.com/l/_1GC78hS9Y9xw
https://dl.doubtnut.com/l/_10swcNs5VBD1


96. Let be a real function satisfying for all

 and . 

Then f(x) is

A. a periodic function with period 

B. an odd function

C. an even function

D. none of these

Answer: B

Watch Video Solution

f(x) + f(y) = f( )
x + y

1 − xy

x, y ∈ R xy ≠ 1

π/2

97. Let  such that  for all 

. Then,

A. f(x) an even function , if 

B. f(x) is an odd function, if 

f :R → R f(x + y) + f(x − y) = 2f(x)f(y)

x, y ∈ R

f(0) ≠ 0

f(0) ≠ 0

https://dl.doubtnut.com/l/_ug1gZ6rce16W
https://dl.doubtnut.com/l/_ClhckfGjbbGp


C. f(x) an even function , if 

D. f(x) is an odd function , if 

Answer: A::D

Watch Video Solution

f(0) = 0

f(0) = 0

98. Let  be given by 

Then which of the following is wrong?

A. f(x) is an odd function

B. f(x) is a one-one function

C. f(x) is an onto function

D. f(x) is an even function

Answer: A::B::C

Watch Video Solution

f : ( − , ) → R
π

2

π

2
f(x) = (log(secx + tanx))3

https://dl.doubtnut.com/l/_ClhckfGjbbGp
https://dl.doubtnut.com/l/_BaMAReeapjpy
https://dl.doubtnut.com/l/_noXGQwLU22fV


99.  If  is an even function in R then

the definition of  in  is:
 (A)  (B) 

 (C)  (D) 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = {
4 x < − 1

−4x −1 ≤ x ≤ 0
f(x)

f(x) (0, ∞) f(x) = {
4x 0 < x ≤ 1

4 x > 1

f(x) = {
4x 0 < x ≤ 1

−4 x > 1
f(x) = {

4 0 < x ≤ 1

4x x > 1

f(x) = {
4 x < − 1

−4x −1 ≤ x ≤ 0

f(x) =
4x 0 < x ≤ 1

4 x > 1

f(x) = {
4x 0 < x ≤ 1

−4 x > 1

f(x) = {
4 0 < x ≤ 1

4x x > 1

100. Let the function 

 be defined on the

interval [0,1]. The odd extension of f(x) to the inteval  is

f(x) = 4 sinx + 3 cos x + log(|x| + √1 + x2)

[ − 1, 1]

https://dl.doubtnut.com/l/_noXGQwLU22fV
https://dl.doubtnut.com/l/_U1l4yKPUMMcj


Section I - Solved Mcqs

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

4 sinx + 3 cos x + log(|x| + √1 + x2), − 1 ≤ x < 0

4 sinx − 3 cos x − log(|x| + √1 + x2), − 1 ≤ x < 0

4 sinx + 3 cos x + log(|x| + √1 + x2), − 1 ≤ x < 0

1. If  then 

A. 

B. 

C. 

D. none of these

f(x) = ,
x − 1

x + 1
f(α, x) =

f(x) + α

1 + αf(x)

(α − 1)f(x) + α + 1

(α + 1)f(x) + (α − 1)

(α + 1)f(x) + α − 1

(α − 1)f(x) + (α + 1)

https://dl.doubtnut.com/l/_U1l4yKPUMMcj
https://dl.doubtnut.com/l/_W0Q1YqlOfpBS


Answer: c

Watch Video Solution

2. If  and  are roots of  then

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = 27x3 −
1

x3
α, β 3x − = 2

1

x

f(α) = f(β)

f(α) = 10

f(β) = − 10

3. Let  be a function given by  for all

x,y R such that  Then, 

f :R → R f(x + y) = f(x) + f(y)

∈ f(1) = a f(x) =

https://dl.doubtnut.com/l/_W0Q1YqlOfpBS
https://dl.doubtnut.com/l/_C4aMhSrhlObq
https://dl.doubtnut.com/l/_KOvc3Urm8mFL


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax

ax

ax

a + x

4. Let  be a function given by  for all

x,y R such that  Then, 

A. 

B. 

C. 

D. none of these

Answer: A

f :R → R f(x + y) = f(x) + f(y)

∈ f(1) = a f(x) =

ax

ax

ax

https://dl.doubtnut.com/l/_KOvc3Urm8mFL
https://dl.doubtnut.com/l/_FKzpCfWg50DY


Watch Video Solution

5. Le the be a real valued functions satisfying

 for all  and , then for

any , f(n) =

A. n f(1)

B. 

C. 0

D. none of these

Answer: A

Watch Video Solution

f(x + 1) + f(x − 1) = 2f(x) x, y ∈ R f(0) = 0

n ∈ N

[f(1)]n

6. If  is a real valued functions satisfying

 for all  such that 

then the number of solutions of , is

f(x)

f(x + y) = f(x) + f(y) − yx − 1 x, y ∈ R f(1) = 1

f(n) = n, n ∈ N

https://dl.doubtnut.com/l/_FKzpCfWg50DY
https://dl.doubtnut.com/l/_3dDXKWkbrdYb
https://dl.doubtnut.com/l/_HK6SZEQrxYh6


A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

7. If  satisfies f(x+y)=f(x)+f(y) for all x,y  R and f(1)=7, then 

, is

A. 

B. 

C. 

D. none of these

Answer: C

f :R → R ∈

n

∑
r= 1

f(r)

3m − 1

3m

3m− 1

https://dl.doubtnut.com/l/_HK6SZEQrxYh6
https://dl.doubtnut.com/l/_WjwjbFAreYw8


Watch Video Solution

8. If  satisfies the identity 

 for all  Then (a,b)=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = ax2 + bx + c

f(x + 1) − f(x) = 8x + 3 x ∈ R

(2, 1)

(4, − 1)

( − 1, 4)

( − 1, 1)

9. If  then 

A. x

B. y

f(x + y, x − y) = xy =
f(x, y) + f(y, x)

2

https://dl.doubtnut.com/l/_WjwjbFAreYw8
https://dl.doubtnut.com/l/_AIkDmotk1H2p
https://dl.doubtnut.com/l/_9qjKCp8mcuhQ


C. 0

D. none of these

Answer: C

Watch Video Solution

10. A polynomial function f(x) satisfies the condition

 for all , . If f(3)=-26, then f(4)=

A. 

B. 

C. 65

D. none of these

Answer: B

Watch Video Solution

f(x)f( ) = f(x) + f( )
1

x

1

x
x ∈ Rx ≠ 0

−35

−63

https://dl.doubtnut.com/l/_9qjKCp8mcuhQ
https://dl.doubtnut.com/l/_yvzoLbr2xPDE
https://dl.doubtnut.com/l/_qbxm1rBUppsq


11. If  be two funcitons, and 

 then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f :R → R, g, R → R

h(x) = 2min{f(x) − g(x), 0} h(x) =

f(x) + g(x) − |g(x) − f(x)|

f(x) + g(x) + |g(x) − f(x)|

f(x) − g(x) + |g(x) + |g(x) − f(x)∣

f(x) − g(x) − |g(x) − f(x)|

12. If , where  is the greatest integer

function of y then  is equal to

A. 

B. 0

C. 

f(x) = cos[π]x + cos[πx] [y]

f( )
π

2

cos 3

cos 4

https://dl.doubtnut.com/l/_qbxm1rBUppsq
https://dl.doubtnut.com/l/_Sq1Iq0iVkfss


D. none of these

Answer: C

Watch Video Solution

13. If  denoting the greatest

integer function,then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = cos[ ]x + sin[ ]x, [x]
π2

2

−π2

2

f(0) = 0

f( ) =
π

3

√(3) − 1

2

f( ) = − 1
π

2

f(π) = 0

https://dl.doubtnut.com/l/_Sq1Iq0iVkfss
https://dl.doubtnut.com/l/_NA3adyMPu2tC


14. If one the roots fo the equation  is the cube of

the othere for all , then f(x)=

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + xf(a) + a = 0

x ∈ R

x1 / 4 + x3 / 4

−(x1 / 4 + x3 / 4)

x + x3

15. If the graph of a function f(x is symmetrical about the line x = a, then

A. 

B. 

C. 

D. none of these

f(a + x) = f(a − x)

f(a + x) = f(x − a)

f(x) = f( − x)

https://dl.doubtnut.com/l/_JBT0qVFbFdAf
https://dl.doubtnut.com/l/_eEuvLzJK9UCC


Answer: A

Watch Video Solution

16. If a real function f(x) satisfies the relation  for all 

. Then, its graph is symmetrical about the line.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = f(2a − x)

x ∈ R

x = 0

x = 2a

x = a

x = − a

17. The largest interval lying in 
 for which the
 function 


 is defined,
 is
 (1) 

( − , )
π

2

π

2

[f(x) = 4−x ^ 2 + cos − 1( − 1) + log(cos x)]
x

2
[0, π]

https://dl.doubtnut.com/l/_eEuvLzJK9UCC
https://dl.doubtnut.com/l/_fvsLzT8ikcBY
https://dl.doubtnut.com/l/_9O496Th3CCJL


(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − , )
π

2

π

2
[ − , )

π

4

π

2
[0, )

π

2

[ − π/4, 2)

[0, π/2)

[0, π]

( − π/2, π/2)

18. The domain of , is

A. 

B. 

C. 

D. 

Answer: A

f(x) = log2(2x3 − x2 − 4x + 2)

( − √2, 1/2) ∪ (√2, ∞)

( − 1, 1/2) ∪ (√2, ∞)

( − √2, − 1) ∪ (1, ∞)

( − ∞, − √2) ∪ (√2, ∞)

https://dl.doubtnut.com/l/_9O496Th3CCJL
https://dl.doubtnut.com/l/_Po97LrQlDAdc


Watch Video Solution

19. If , then the domain of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = 1 − x, x ∈ [ − 3, 3] fof(x)

[ − 3, 3]

[ − 2, 3]

( − 2, 3)

[ − 2, 3)

20. If  and , then the domain of fog (x) is

A. 

B. 

C. 

f(x) = √2 − x g(x) = √1 − 2x

( − ∞, 1/2)

[1/2, ∞)

( − ∞, − 3/2]

https://dl.doubtnut.com/l/_Po97LrQlDAdc
https://dl.doubtnut.com/l/_8u9Kcq74RJeP
https://dl.doubtnut.com/l/_DSa3ByqeKQ5h


D. none of these

Answer: C

Watch Video Solution

21. Let  


Then , the domain of fog (x) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

fog(x) = loge x and g(x) =
x4 − 2x3 + 3x2 − 2x + 2

2x2 − 2x + 1

R

[0, ∞)

(0, ∞)

[1, ∞)

https://dl.doubtnut.com/l/_DSa3ByqeKQ5h
https://dl.doubtnut.com/l/_7euUq7MM8SJy


22. Let f(x) be a function whose domain is  and .

Then, the domain of fog (x) is .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

[ − 5, 7] g(x) = |2x + 5|

[ − 5, 1]

[ − 4, 0]

[ − 6, 1]

23. The domain of , is

A. 

B. 

C. 

f(x) =
log2(x + 3)

x2 + 3x + 2

R − { − 1, − 2}

( − 2, ∞)

R − { − 1, − 2, − 3}

https://dl.doubtnut.com/l/_UvJP7rOXlJiU
https://dl.doubtnut.com/l/_2dIpZSCRwyRb


D. 

Answer: D

Watch Video Solution

( − 3, ∞) − { − 1, − 2}

24. The domain of definition of , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) = sin− 1{log2(x
2 + 3x + 4)}

[ − 4, − 1/4]

[ − 3, − 1/3]

[ − 2, − 1]

https://dl.doubtnut.com/l/_2dIpZSCRwyRb
https://dl.doubtnut.com/l/_LKSPncNhkbDs


25. The domain of definition of  is ([.] denotes the

greatest integer function).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = sin− 1[2 − 4x2]

[√3/2, √3/2]

[ − √3/2, 0]

[ − √3/2, 0) ∪ (0, √3/2]

[ − √3/2, ∞)

26. The domain of the function 
 , where 
 is the

greatest integer less than or equal to 
is
 
(b) 
 
 (d)

none of these

A. 

B. 

f(x) = √x2 − [x]2 [x]

x, R [0, + ∞] ( − ∞, 0)

R

[0, ∞)

https://dl.doubtnut.com/l/_nd5SLtQjf5qB
https://dl.doubtnut.com/l/_F1aaO6vychaZ


C. 

D. none of these

Answer: D

Watch Video Solution

( − ∞, 0]

27. The domain of definition of  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = cos − 1(x + [x])

[0, 1)

R − Z

(0, ∞)

https://dl.doubtnut.com/l/_F1aaO6vychaZ
https://dl.doubtnut.com/l/_gtcnDmFJub8g


28. The domain of definition of the functions , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x − [x])

R

R − Z

(0, ∞)

29. If  fraction part of x, then for any two

real numbers x and y.

A. 

B. 

C. 

D. none of these

f(x) = [x] and g(x) = {x} =

f(x + y) = f(x) + f(y)

g(x + y) = g(x) + g(y)

f(x + y) = f(x) + f(y + g(x))

https://dl.doubtnut.com/l/_ZWE5T9wMms29
https://dl.doubtnut.com/l/_ypCZArFP1tZi


Answer: C

Watch Video Solution

30. The domain of definition of , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = log2(log3(log4 x))

[4, ∞)

(4, ∞)

( − ∞, 4)

31. The domain of the function 

.

f(x) = log2[log3(log4(x
2 − 3x + 6)}]is

https://dl.doubtnut.com/l/_ypCZArFP1tZi
https://dl.doubtnut.com/l/_LHXAYECzjIs9
https://dl.doubtnut.com/l/_vZ1oDmrPTRCS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 2)

[1, 2]

( − ∞, 1] ∪ (2, ∞)

( − ∞, 1] ∪ [2, ∞)

32. The domain of definition of the function  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = √log10( )
2 − x

x

(0, 1)

[0, 1]

(0, 1]

(0, 2)

https://dl.doubtnut.com/l/_vZ1oDmrPTRCS
https://dl.doubtnut.com/l/_Ci4bO1jzfXMg


Watch Video Solution

33. The domain of definition of the function  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = √logx2 − 1x

(√2, ∞)

(0, ∞)

(1, ∞)

34. Find the domain of the following functions :

A. 

B. 

f(x) = √log10( )
log10 x

2(3 − log10 x)

(102, 103)

[102, 103]

https://dl.doubtnut.com/l/_Ci4bO1jzfXMg
https://dl.doubtnut.com/l/_ag4rYLvdQ4LC
https://dl.doubtnut.com/l/_Gth09QwTFXAn


C. 

D. 

Answer: A

Watch Video Solution

[102, 103)

(10, 103)

35. The domain of definition of the function

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = log3{ − log1 / 2(1 + ) − 1}
1

x1 / 5

( − ∞, 1)

(0, 1)

(1, ∞)

https://dl.doubtnut.com/l/_Gth09QwTFXAn
https://dl.doubtnut.com/l/_brgeEQytcTEe
https://dl.doubtnut.com/l/_idSPMh82Grc5


36. If [x] denote the greater integer less than or equal to x, then the

domain of definition of the real valued funciton

, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(c) = log [x+ 1 / 2 ]
∣∣x

2 − x − 2∣∣

[3/2, ∞)

[3/2, 2) ∪ (2, ∞)

(1/2, 2) ∪ (2, ∞)

37. If  then domain of f(x) is

A. 

B. 

C. 

ex + ef ( x ) = e

( − ∞, 1)

( − ∞, 0)

(1, ∞)

https://dl.doubtnut.com/l/_idSPMh82Grc5
https://dl.doubtnut.com/l/_9etNoPGNRULO


D. none of these

Answer: A

Watch Video Solution

38. The domain of 
Then the domain of 
 is



(b) 
 
(d)


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x)is(0, 1). (f(ex) + f(1n|x|)

( − 1, e) (1, e) ( − e, − 1) ( − e, 1)

( − 1, e)

(1, e)

(e, 1)

( − e, 1)

https://dl.doubtnut.com/l/_9etNoPGNRULO
https://dl.doubtnut.com/l/_xKUhCaciRTeb


39. The domain of definition of is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = √e ( cos − 1 ( log4 x
2 ) )

[1/2, 2]

[ − 2, − 1/2] ∪ [1/2, 2]

[ − 2, − 1/2]

40. The domain of definition of function is

A. 

B. 

C. 

D. none of these

f(x) = 4√log3{ }
1

|cos x|

R

R − {nπ : n ∈ Z}

R − {(2n + 1) : n ∈ Z}
π

2

https://dl.doubtnut.com/l/_snpnWvsA7sip
https://dl.doubtnut.com/l/_cOJw0xAFnDdp


Answer: C

Watch Video Solution

41. The domain of definition of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = √sec− 1{ }
1 − |x|

2

( − ∞, − 3)

[3, ∞)

ϕ

( − ∞, − 3] ∪ [3, ∞)

42. The domain of the function  is

A. 

f(x) = √cos − 1( )
1 − |x|

2

[ − 3, 3]

https://dl.doubtnut.com/l/_cOJw0xAFnDdp
https://dl.doubtnut.com/l/_BJu3ilpAej0f
https://dl.doubtnut.com/l/_7mogpi2Tw3Xn


B. 

C. 

D. 

Answer: A

Watch Video Solution

( − ∞, − 3) ∪ (3, ∞)

( − ∞, − 3] ∪ [3, ∞)

1

43. The domain of definiton of the function

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = cot − 1{ }
x

√x2 − [x2]

R − { ± √n : n ∈ N}

R − { ± √n : n ≥ 0, ≠ Z)

R

R − {0}

https://dl.doubtnut.com/l/_7mogpi2Tw3Xn
https://dl.doubtnut.com/l/_ZKEJVaKepcxI


44. The function  is

defined on the set S, where S is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = cot − 1 √x(x + 3) + cos − 1 √x2 + 3x + 1

{ − 3, 0}

[ − 3, 0]

[0, 3]

ϕ

45. The domain of the definition of the function of the function y (x) given

by the equation  is

A. 

B. 

2x + 2y = 2

0 < x ≤ 1

0 ≤ x ≤ 1

https://dl.doubtnut.com/l/_ZKEJVaKepcxI
https://dl.doubtnut.com/l/_nfFjJqwl3V6s
https://dl.doubtnut.com/l/_ZwVslu6BSn77


C. 

D. 

Answer: D

Watch Video Solution

−∞ < x ≤ 0

−∞ < x < 1

46. The domain of the function  where [x] denotes the

greatest integer less than or equal to x,is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

f(x) = √
4 − x2

[x] + 2

[ − 1, 2]

( − ∞, − 2)

( − ∞, − 2) ∪ [ − 1, 2]

https://dl.doubtnut.com/l/_ZwVslu6BSn77
https://dl.doubtnut.com/l/_5wutMCrsWjAl
https://dl.doubtnut.com/l/_S3lbm7UmaxB1


47. The domain of definition of the function

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = √3 − 2x − 21 −x + √√sin− 1 x,

[0, 1]

(0, 1]

[0, 1]

48. The domain of definiton of definition of , is

A. 

B. 

C. 

f(x) = logx cos x

( − π/2, π/2) − {1}

[ − π/2, π/2] − {1}

( − π/2, π/2)

https://dl.doubtnut.com/l/_S3lbm7UmaxB1
https://dl.doubtnut.com/l/_jRYxcF2i5lWp


D. none of these

Answer: D

Watch Video Solution

49. The domain of the function

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = sin− 1( ) + cos − 1( ) + tan− 1( )
2 − |x|

4

2 − |x|

4

2 − |x|

4

[0, 3]

[ − 6, 6]

[ − 1, 1]

[ − 3, 3]

https://dl.doubtnut.com/l/_jRYxcF2i5lWp
https://dl.doubtnut.com/l/_qAVDCT1iwVUO


50. The set of all real values of x for which the funciton

 takes real values is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = √sinx + cos x + √7x − x2 − 6

[1, 3π/4] ∪ [7π/4, 6]

[1, 3π/4] ∪ [6 − π/4, 6]

[1, 6]

51. If  is defined on , then the domain of  is

A. 

B. 

C. 

D. none of these

f(x) (0, 1] f(sinx)

(2nπ, (2n + 1)π), ≠ ∈ Z

((2n + 1) , (2n + 3) ), n ∈ Z
π

2

π

2

((n − 1)π, (n + 1)π), n ∈ Z

https://dl.doubtnut.com/l/_jCI0o84XcuPO
https://dl.doubtnut.com/l/_3Za15vtFfNBF


Answer: A

Watch Video Solution

52. Let . Then , the range of the f , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = cos − 1( )
x2

x2 + 1

(0, π/2]

[ − π/2, π/2]

[ − π/2, 0]

53. The range of the function  is

A. 

f(x) =
1

2 − sin 3x

(1/3, 1)

https://dl.doubtnut.com/l/_3Za15vtFfNBF
https://dl.doubtnut.com/l/_sXSCg7a60DMv
https://dl.doubtnut.com/l/_eWt3JugFRI7c


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

[1/3, 1)

[1/3, 1]

54. The range of the function , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = log3(5 + 4x − x2)

(0, 2]

( − ∞, 2]

(0, 9]

https://dl.doubtnut.com/l/_eWt3JugFRI7c
https://dl.doubtnut.com/l/_9ig3jGOnHg3L
https://dl.doubtnut.com/l/_KZYroDmDFH5F


55. The range of the function is  is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

f(x) = log5(25 − x2)

[0, 5]

[0, 2)

(0, 2)

56. The range of the functions , given by 

 , is

A. 

B. 

C. 

D. 

f : [0, 1] → R

f(x) = x3 − x2 + 4x + 2 sin− 1 x

[ − π − 2, 0]

[2, 3]

[0, 4 + π]

[0, 2 + π]

https://dl.doubtnut.com/l/_KZYroDmDFH5F
https://dl.doubtnut.com/l/_kuBWPKnelVzf


Answer: C

Watch Video Solution

57. Let  Then the range of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = 4 cos√x2 −
π2

9
f(x)

[ − 1, 1]

[ − 4, 4]

[0, 1]

58. The range [परिसर] of the function , is

A. 

f(x) = tan√ − x2π2

9

[0, √3]

https://dl.doubtnut.com/l/_kuBWPKnelVzf
https://dl.doubtnut.com/l/_eF6V0af75Tth
https://dl.doubtnut.com/l/_1sRcYV1W6IHN


B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, √3)

[0, √3)

(0, √3]

59. Let , wheb denotes the greatest integer

function. Then the range of (x) is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) = sec− 1[1 + cos2 x]

[1, 2]

[0, 2]

{sec− 1 1, sec− 1 2}

https://dl.doubtnut.com/l/_1sRcYV1W6IHN
https://dl.doubtnut.com/l/_A399E24GUDPG


60. The range of the function 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = √2 − x + √1 + x

[√3, √6]

[0, √6]

(√3, √6)

61. The range of the function 
 defined by 
 (where [.]

and 
respectively, denote the greatest integer and the fractional part

functions) is
I, the set of integers
N, the set of natural number
W, the set

of whole numbers
{1,2,3,4,...}

A. 

f f(x) = [ ]
1

sin{x}

{.},

Z

https://dl.doubtnut.com/l/_A399E24GUDPG
https://dl.doubtnut.com/l/_bptheIptgJNY
https://dl.doubtnut.com/l/_A5S5O1aNhX9l


B. 

C. 

D. 

Answer: B

Watch Video Solution

N

{x : x ≥ 0, x ∈ Z}

{x : x ≥ 2, x ∈ N}

62. If  is a periodic function with peirodic function with period  then

 where  is any constant is periodic with period .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) λ

f(λx + u) μ
T

a

λ

1

λ

a

https://dl.doubtnut.com/l/_A5S5O1aNhX9l
https://dl.doubtnut.com/l/_6n2At0gdG0B9


63. The peroid of the function  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = ∣
∣cos. ∣

∣ + |sinx|
x

2

2π

π

4π

64. Let . If the definition of  is extended

over the set  by , then f is a

A. periodic function with period 1

B. non-periodic function

C. periodic function with period 2

f(x) = x(2 − x), 0 ≤ x ≤ 2 f(x)

R − [0, 2] f(x + 1) = f(x)

https://dl.doubtnut.com/l/_6n2At0gdG0B9
https://dl.doubtnut.com/l/_Z0wNk5FURCza
https://dl.doubtnut.com/l/_DYD7hgQDOGb4


D. periodic function with period 

Answer: C

Watch Video Solution

1/2

65. The peroid of the function  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) =
|sinx| − |cos x|

|sinx + cos x|

π

2

2π

π

https://dl.doubtnut.com/l/_DYD7hgQDOGb4
https://dl.doubtnut.com/l/_pPlaWC11vobR


66. The function  where [x] denotes the

greatest interger less than or equal to x, is

A. a periodic function with period 1

B. a periodic function with period 2

C. a periodic function with period 

D. not a periodic function

Answer: A

Watch Video Solution

f(x) = 3sin2 π+ sin4 πx+x− [x ]

1

2

67. Period of the function  is

(where [.] denotes the greatest integer function )

A. 

B. 

C. 

f(x) = {sin 3x + |sin 3x| + [sin 3x]}
1

3

π

3

2π

3

4π
3

https://dl.doubtnut.com/l/_EuqTKb7hwLzF
https://dl.doubtnut.com/l/_6dIQMAigw6Zd


D. 

Answer: B

Watch Video Solution

π

68. The function , is

A. not periodic

B. periodic and its period is same as that of 

C. periodic and its period is same as that of 

D. periodic and its period is same as that of 

Answer: C

Watch Video Solution

f(θ) = cos(π sin3 θ)

cos θ

cos 2θ

cos(πθ)

https://dl.doubtnut.com/l/_6dIQMAigw6Zd
https://dl.doubtnut.com/l/_za41iYPYGwMz


69. Let  where[.] denotes the greatest integer

funciton them the domain of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) =
1

√|x − 1| − [x]

f(x)

( − 1, 1)

( − ∞, 1)

( − ∞, − 1)

70. Let  for all  then the range of 

 is, ([.] denotes the greatest integer function).

A. 

B. 

C. 

f(x) = [9x − 3x + 1] x ∈ ( − ∞, 1),

f(x)

{0, 1, 2, 3, 4, 5, 6, 7}

{0, 1, 2, 3, 4, 5, 6}

{1, 2, 3, 4, 5, 6, 7}

https://dl.doubtnut.com/l/_dQlVfnJticGg
https://dl.doubtnut.com/l/_sCKH6FoVQaSw


D. 

Answer: D

Watch Video Solution

{1, 2, 3, 4, 5, 6}

71. If  and  then range of  for

existance of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = loge2x( )
2 lnx + 2

−x
g(x) = {x} g(x)

f(g(x))

(0, 2/e)

(0, 1/e) − {1/e2}

(0, 3/e)

https://dl.doubtnut.com/l/_sCKH6FoVQaSw
https://dl.doubtnut.com/l/_q8vDBUOAIs7D


72. The domain and range of  where[.]

denote the greatest integer function are respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = cos − 1 √log [x ]( )
|x|

x

[1, ∞), [0, π/2]

[2, ∞), [0, π/2)

[2, ∞), {π/2}

[1, ∞), {0}

73. period the function , n  N, is  then ------

--

A. 3

B. 2

f(x) =
sin{sin(nx)}

tan( )x
n

∈ 6π n =

https://dl.doubtnut.com/l/_XrW2vL5KNtZF
https://dl.doubtnut.com/l/_p2I2KjFw8QVj


C. 1

D. none of these

Answer: A

Watch Video Solution

74. If[.] and {.} denote greatest integer and fractional part functions

respectively, then the period of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = esin 3π {x } + tan π [x ]

2/3

1

3

https://dl.doubtnut.com/l/_p2I2KjFw8QVj
https://dl.doubtnut.com/l/_2UOaUNYirtCD
https://dl.doubtnut.com/l/_NPhhXectOYWR


75. The domain of the funciton  given by

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x)

3x + 3f = min(2t3 − 15t2 + 36 + − 25, 2 + |sin t|, 2 ≤ t ≤ 4)

( − ∞, 1)

( − ∞, log3 e)

(0, log3 2)

( − ∞, log3 2)

76. Let  be a function defined by 

where [.] denotes the greatest integer function, then  is equal to

A. 

B. 

C. 

f : (4, 6) → (6, 8) f(x) = x + [ ]
x

2

f − 1(x)

x − [ ]
x

2

−x − 2

x − 2

https://dl.doubtnut.com/l/_NPhhXectOYWR
https://dl.doubtnut.com/l/_Zp82YRJZOjAK


D. 

Answer: C

Watch Video Solution

1

x + [ ]x
2

77. The domain of definition of the function


for real-valued 
 is
 
 (b) 
 (c) 
 (d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = √sin− 1(2x) +
π

6

x [ − , ]
1

4

1

2
[ − , ]

1

2

1

2
( − , )

1

2

1

9

[ − , ]
1

4

1

4

[ − 1/4, 1/2]

[ − f1/2, 1/2]

[ − 1/2, 1/9]

[ − 1/4, 1/4]

https://dl.doubtnut.com/l/_Zp82YRJZOjAK
https://dl.doubtnut.com/l/_z5MetwpZQcZn
https://dl.doubtnut.com/l/_mzICg9yDv6zj


78. The range of the function 
is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = , x ∈ R,
x2 + x + 2

x2 + x + 1

(1, ∞)

(1, 11/7]

[1, 7/3]

(1, 7/5]

79. If and , then is invertible

in the domain .

A. 

B. 

C. 

D. 

f(x) = sinx + cos x g(x) = x2 − 1 g(f(x))

[0, π/2]

[ − π/4, π/4]

[ − π/4, π/2]

[0, π]

https://dl.doubtnut.com/l/_mzICg9yDv6zj
https://dl.doubtnut.com/l/_oi6phXaBgVQE


Answer: B

Watch Video Solution

80. If , defined by , is onto then

the interval of S, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f :R → S f(x) = sinx − √3 cos x + 1

[ − 1, 3]

[ − 1, 1]

[0, 1]

[0, 3]

81. If the graph of the function y = f(x) is symmetrical about the line x = 2,

then

https://dl.doubtnut.com/l/_oi6phXaBgVQE
https://dl.doubtnut.com/l/_j9ikJzmSWDnP
https://dl.doubtnut.com/l/_UsoeJjtkrYhY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = − f( − x)

f(2 + x) = f(2 − x)

f(x) = f( − x)

f(x + 2) = f(x − 2)

82. The domain of the function 
is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = sin− 1( )
8(3)x− 2

1 − 32 ( x− 1 )

( − ∞, 0]

[2, ∞)

( − ∞, 0) ∪ [2, ∞)

( − ∞, − 1] ∪ [1, ∞)

https://dl.doubtnut.com/l/_UsoeJjtkrYhY
https://dl.doubtnut.com/l/_IRL3pRuUCbL5


Watch Video Solution

83. find the value of the

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

±√nπ, n ∈ {0, 1, 2, …. }

±√nπ, n ∈ {1, 2, …}

+ 2nπ, n ∈ {…, − 2, − 1, 0, 1, 2, …}
π

2

2nπ, n ∈ {… − 2, − 1, 0, 1, 2, …}

84. Consider the statements : P : There exists some x IR such that f(x) + 2x

= 2(1+x2) Q : There exists some x IR such that 2f(x) +1 = 2x(1+x) Then (A)

both P and Q are true (B) P is true and Q is false (C) P is false and Q is true

(D) both P and Q are false.

A. both P and Q are true

https://dl.doubtnut.com/l/_IRL3pRuUCbL5
https://dl.doubtnut.com/l/_yEwdIPHaOjQr
https://dl.doubtnut.com/l/_Exu2k1rEmdZj


B. P is true and Q is false

C. P is false and Q is true

D. both P and Q are false

Answer: C

Watch Video Solution

85. Let  for all 

A. Range of f is 

B. Range of fog is 

C. 

D. There is an  such that 

Answer: A::B::C

Watch Video Solution

f(x) = sin[ sin( sinx)]
π

6

π

2
x ∈ R

[ − , ]
1

2

1

2

[ − , ]
1

2

1

2

lim
x→ 0

=
f(x)

g(x)

π

6

x ∈ R (gof)(x) = 1

https://dl.doubtnut.com/l/_Exu2k1rEmdZj
https://dl.doubtnut.com/l/_Uw6OdRQdvuGI
https://dl.doubtnut.com/l/_YDxZxuzb9z3N


86. Consider the function f defined on the set of all non-negative interger

such that  and 

 for , then f(5) is

equal to

A. 40

B. 44

C. 45

D. 60

Answer: B

Watch Video Solution

f(0) = 1, f(1) = 0

f(n) + f(n − 1) = nf(n − 1) + (n − 1)f(n − 2) n ≥ 2

87. In a function

.
Prove that: 1. f(2)+f(1/2)=1
2. f(2)+f(1)=0

2f(x) + xf( ) − 2f(
∣
∣
∣
√2 sin(π(x + ))

∣
∣
∣
) = 4 cos2[ ] + x cos(

1

x

1

4
πx

2

π

x

https://dl.doubtnut.com/l/_YDxZxuzb9z3N
https://dl.doubtnut.com/l/_3VuKaFFzZyIN


A. 

B.  but  cannot be determined

C. 

D. 

Answer: C

Watch Video Solution

f(2) + f( ) = 0
1

2

f(1) = − 1 f(2), f( )
1

2

f(2) + f(1) = f( )
1

2

f(2) + f(1) = 1

88. Let X be the set of all positive such that  for all 

. If , then f(9) is equal to.

A. 8

B. 9

C. 81

D. 64

Answer: B

f(x + y) = f(xy)

x ≥ 4, y ≥ 4 f(8) = 9

https://dl.doubtnut.com/l/_3VuKaFFzZyIN
https://dl.doubtnut.com/l/_qylDF2maKgcL


Watch Video Solution

89.  then value of 

A. 1007

B. 

C. 2014

D. 2015

Answer: D

Watch Video Solution

f(x) =
9x

1 + 9x

f( ) + f( )....... + f( )
1

2015

2

2015
4029
2015

4029
2

90. Range of the function

 is equal to (A) 

 (B)  (C)  (D) 

f(x) = √cos − 1(√log4 x) − + sin− 1( )
π

2

1 + x2

4x

(0, + √ ]
π

2

π

2
[ , + √ ]
π

2

π

2

π

2
[ , )
π

6

π

4
{ }
π

6

https://dl.doubtnut.com/l/_qylDF2maKgcL
https://dl.doubtnut.com/l/_jriZZY48lI5N
https://dl.doubtnut.com/l/_VimINyRXHlX9


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, + √ ]
π

2

π

2

[ , + √ ]
π

2

π

2

π

2

[ , ]
π

6

π

2

{ }
π

2

91. Consider the function g(x) defined as

. Then

the value of g(2) is equal to

A. 

B. 

C. 

D. 

g(x)(x2011 − 1 − 1) = (x + 1)(x2 + 1)(x4 + 1)...(x22010

+ 1) − 1

1

22020 − 1

22020

2

https://dl.doubtnut.com/l/_VimINyRXHlX9
https://dl.doubtnut.com/l/_plg1x2DeIC1v


Answer: B

Watch Video Solution

92. Let 
 Then



 is equal to
 
 (b) 


 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(n) = 1 + + + + .
1

2

1

3

1

n

f(1) + f(2) + f(3) + + f(n) nf(n) − 1

(n + 1)f(n) − ∩ (n + 1)f(n) + n nf(n) + n

nf(n) − 1

(n + 1)f(n) − n

(n + 1)f(n) + n

nf(n) + n

https://dl.doubtnut.com/l/_plg1x2DeIC1v
https://dl.doubtnut.com/l/_gW2KvXLbg29V


93. The period of the function

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = 4 sin4( ) + 2 cos( )
4x − 3π

6π2

4x − 3π

3π2

3π2

4

3π3

4

4π2

3

4π3

3

94. If ,where [.] denotes the greatest integer

function,then

A. 

B. 

C. 

f(x) =
log [x− 1 ] (|x|)

x

D(f) = [3, ∞), R(f) = {0, 1}

D(f) = [3, ∞), R(f) = [3, ∞), R(f) = {0}

D(f) = (2, ∞), R(f) = {0, 1}

https://dl.doubtnut.com/l/_uadGJcLaGOpw
https://dl.doubtnut.com/l/_uyxlTVv8Lrip


D. 

Answer: B

Watch Video Solution

D(f) = (3, ∞), R(f) = {0}

95. Domain (D) and range (R) of 
 where [.]

denotes the greatest integer function, is
 
 D

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = sin− 1(cos − 1[x]),

D ≡ x ∈ [1, 2], R ∈ {0}

≡ x ∈ 90, 1], R ≡ { − 1, 0, 1}

≡ x ∈ [ − 1, 1], R ≡ {0, sin− 1( ), sin− 1(π)}
π

2

≡ x ∈ [ − 1, 1], R ≡ { − , 0, }
π

2

π

2

[1, 2) and {0}

[0, 1] and { − 1, 0, 1}

[ − 1, 1] and {0, sin− 1( ), sin− 1(π)}
π

2

[ − 11] and { − , 0, }
π

2

π

2

https://dl.doubtnut.com/l/_uyxlTVv8Lrip
https://dl.doubtnut.com/l/_4d8CthLpRgF6


Section II - Assertion Reason Type

1. Statement-1: The period of sinx , cos x is  and period of f(x)+g(x) is

the LCM of the periods of f(x) and g(x)

A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: A

View Text Solution

2π

https://dl.doubtnut.com/l/_4d8CthLpRgF6
https://dl.doubtnut.com/l/_FA1iBbhNZVDZ


2. Statement-1: The period of the function

 is  being greatest integer

function and [x] is a fractional part of x, is  . 

Statement-2: The cosine function is periodic with period 

A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: D

Watch Video Solution

f(x) = cos[2π]2
x + cos[ − 2π2]x + [x] π, [x]

π

2π

https://dl.doubtnut.com/l/_Kks4rQLu9SWI


3. Statement-1: The domain of definition of the function

 , is 

Statement:- The domain of .

A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: D

Watch Video Solution

f(x) = e2x + cos − 1( − 1)
x

2
(0, 1) ∪ (1, 2) ∪ (2, 3) ∪ (3, 4)

cos − 1 ( − 1)is[0, 4]
x

2

4. Statement -1: Let f(x) be a function satisfying

 for all  . Then f(x) is periodic withf(x − 1) + f(x + 1) = √2f(x) x ∈ R

https://dl.doubtnut.com/l/_VFXmxSqRt89W
https://dl.doubtnut.com/l/_w3k9aM6veKob


period 8. Statement-2: For every natural number n there exists a periodic

functions with period n.

A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: B

Watch Video Solution

5. The period of 

, isf(x) = { + }
1

2

|sinx|

cos x

|cos|

sinx

https://dl.doubtnut.com/l/_w3k9aM6veKob
https://dl.doubtnut.com/l/_CBsW7u1NSwZg


A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: B

Watch Video Solution

6. Statement-1: Every function can be uniquely expressed as the sum of an

even function and an odd function. 

Statement-2: The set of values of parameter a for which the functions f(x)

defined as  on the set [-3,3] is an odd function

is , 

f(x) = tan(sinx) + [ ]
x2

a

[9, ∞)

https://dl.doubtnut.com/l/_CBsW7u1NSwZg
https://dl.doubtnut.com/l/_cUxK04Ytvi4F


A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: B

Watch Video Solution

7. Statement-1: If , then  cannot attain the

value  . 

Statement-2: The domain of the function  is 

A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

ad − bc ≠ 0 f(x) =
ax + b

cx + d

{ }
a

c

g(x) =
b − dx

cx − a
R − { }

a

c

https://dl.doubtnut.com/l/_cUxK04Ytvi4F
https://dl.doubtnut.com/l/_sIodPyLKqhpZ


B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False , Statement-2 is True.

Answer: A

Watch Video Solution

8. Statement-1: The function f(x) given by

 is an odd function. 

Statement:2 The composition of two odd functions is an odd function.

A. Statement-1 is True, Statement-2 is True, statement-2 is a correct

explanation for the statement-1 .

B. Statement-1 is True, Statement-2 is True, statement-2 is not a

correct explanation for the statement-1 .

C. Statement-1 is True, Statement-2 is False.

f(x) = sin− 1{log(x + √x2 + 1)}

https://dl.doubtnut.com/l/_sIodPyLKqhpZ
https://dl.doubtnut.com/l/_eU39Scqaw48m


Exercise

D. Statement-1 is False , Statement-2 is True.

Answer: A

Watch Video Solution

1. The function  satisfies the equation

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = log10( )
1 + x

1 − x

f(x + 2) − 2cd(x + 1) + f(x) = 0

f(x + 1) + f(x) = f(x(x + 1))

f(x1(x2) = f(x1 + x2)

f(x1) + fx2 = f( )
x1 + x2

1 + x1x2

https://dl.doubtnut.com/l/_eU39Scqaw48m
https://dl.doubtnut.com/l/_2AaLpNe5vGwe
https://dl.doubtnut.com/l/_WnoyPNmcVgwD


2.  satisfies the condition 

then 

A.  for all 

B.  for all x satisfying 

C.  for all x satisfying 

D. none of these

Answer: B

Watch Video Solution

Ify = f(x) f(x + ) = x2 + (x ≠ 0)
1

x

1

x2

f(x) =

x2 − 2 x ≠ 0

x2 − 2 |x| ≥ 2

x2 − 2 |x| < 2

3. If  then  equals

A. 

B. 

C. 

D. 

f(x + 2y, x − 2y) = xy, f(x, y)

x2 − y2

8

x2 − y2

4

x2 + y2

4

x2 − y2

2

https://dl.doubtnut.com/l/_WnoyPNmcVgwD
https://dl.doubtnut.com/l/_BUiIN2WjxDa6


Answer: A

Watch Video Solution

4. If  then  equals.

A. f(x)+f(-x)

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

f(x) = x − , x ≠ 0
1

x
f(x2)

f(x)f( − x)

f(x) − f( − x)

5. A polynomial function f(x) satisfies the condition 

 . 

If f(10)=1001, then f(20)=

f(x)f( ) = f(x) + f( )
1

x

1

x

https://dl.doubtnut.com/l/_BUiIN2WjxDa6
https://dl.doubtnut.com/l/_ARvc0rWTX0ed
https://dl.doubtnut.com/l/_YxcR0U2NTORD


A. 2002

B. 8008

C. 8001

D. none of these

Answer: C

Watch Video Solution

6. The function  is

equivalent to

A. 

B. 

C. 

D. none of these

f(x) = max {(1 − x), (1 + x), 2}, x ∈ ( − ∞, ∞)

f(x) =
⎧⎪
⎨
⎪⎩

1 − x x ≤ − 1

2 −1 < x < 1

1 + x x ≥ 1

f(x) =

⎧⎪
⎨
⎪⎩

1 + x,x ≤ − 1

2, − 1 < x < 1

1 − x,x ≥ 1

f(x) =
⎧⎪
⎨
⎪⎩

1 − x,x ≤ − 1

1, − 1 < x < 1

1 + x,x ≥ 1

https://dl.doubtnut.com/l/_YxcR0U2NTORD
https://dl.doubtnut.com/l/_T5N5HwibSTBJ


Answer: A

Watch Video Solution

7. If , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = x3 − x and ϕ(x) = sin 2x

ϕ(f(2)) = sin 2

ϕ(f(1)) = 1

f(ϕ(π/12)) = −
3

8

f(f(1)) = 2

8. Let , for every . Then

A. 

f(x) = min {x, x2} x ∈ R

f(x) =
⎧⎪
⎨
⎪⎩

x,x ≥ 1

x2,0 ≤ x < 1

x  ,x < 0

https://dl.doubtnut.com/l/_T5N5HwibSTBJ
https://dl.doubtnut.com/l/_njZg0Fw2yPpg
https://dl.doubtnut.com/l/_WBPENLzfnaHP


B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
x2,x ≥ 1

x,x < 1

f(x) = {
x,x ≥ 1

x2,x < 1

f(x) =
⎧⎪
⎨
⎪⎩

x2,x ≥ 1

x,0 ≤ x < 1

x2,x < 0

9. The domain of the function f(x) given by  is

A. [0,2]

B. [0,2)

C. [1,2)

D. [1,2]

Answer: C

Watch Video Solution

f(x) =
√4 − x2

sin− 1(2 − x)

https://dl.doubtnut.com/l/_WBPENLzfnaHP
https://dl.doubtnut.com/l/_cED46AfmDb5r


10. The domain of the function 

 is 


(a)     (b)   


(b)     (d)  None of these

A. [2,6]

B. (2,6)

C. [2,6)

D. none of these

Answer: B

Watch Video Solution

f(x) = √{ }
−log0.3(x − 1)

−x2 + 3x + 18

[2, 6] ]2, 6[

[2, 6[

11. Domain of the function,  is

A. [1,4]

f(x) = [log10( )]
5x − x2

4

1
2

https://dl.doubtnut.com/l/_cED46AfmDb5r
https://dl.doubtnut.com/l/_6MK6SEhAXEfB
https://dl.doubtnut.com/l/_LDM4FDgLnGxT


B. (1,4)

C. (0,5)

D. [0,5]

Answer: A

Watch Video Solution

12. If  is defined by  for each  then

the range of  is

A. 

B. R

C. [1/3,1]

D. none of these

Answer: C

Watch Video Solution

f :R → R f(x) =
1

2 − cos 3x
x ∈ R

f

[ − 1/3, 0]

https://dl.doubtnut.com/l/_LDM4FDgLnGxT
https://dl.doubtnut.com/l/_7ZaVQubUh9AZ


13. If the function 
given by 
is surjection, then find

A. R

B. [0,1]

C. (0,1]

D. [0,1)

Answer: D

Watch Video Solution

f :R
→
A f(x) =

x2

x2 + 1

A.

14. The domain of definition of the function 

 is

A. R

B. 

f(x) =
1

√|x| − x

(0, ∞)

https://dl.doubtnut.com/l/_7ZaVQubUh9AZ
https://dl.doubtnut.com/l/_OoJyRJ1EgFc0
https://dl.doubtnut.com/l/_eI2w1AlEpdX4


C. 

D. none of these

Answer: C

Watch Video Solution

( − ∞, 0)

15. The set of values of x for which the function 

 exists is

A. R

B. R-{0}

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) = + 2sin − 1 x +
1

x

1

√x − 2

ϕ

https://dl.doubtnut.com/l/_eI2w1AlEpdX4
https://dl.doubtnut.com/l/_ASAm7NSr5FXO
https://dl.doubtnut.com/l/_lQXT8tWjIht1


16. The function  is

A. an even function

B. an odd function

C. periodic function

D. none of these

Answer: B

Watch Video Solution

f(x) = log10(x + √x2 + 1)

17. The function  , is

A. even

B. odd

C. constant

D. none of these

f(x) = cos{log10(x + √x2 + 1}

https://dl.doubtnut.com/l/_lQXT8tWjIht1
https://dl.doubtnut.com/l/_5M2MKpLaqmqX


Answer: A

Watch Video Solution

18. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = √sin− 1(log2 x)

x ∈ (1, 2)

s ∈ [1, 2]

x ∈ [2, ∞)

x ∈ (0, ∞)

19. The function  is defined for :

A. 

f(x) = √cos(sinx) + sin− 1( )
1 + x2

2x

x ∈ { − 1, 1}

https://dl.doubtnut.com/l/_5M2MKpLaqmqX
https://dl.doubtnut.com/l/_aoGM8xwyqi5H
https://dl.doubtnut.com/l/_55Z2FdNaJa3L


B. 

C. 

D. 

Answer: A

Watch Video Solution

x ∈ [ − 1, 1]

x ∈ R

x ∈ ( − 1, 1)

20. The function  is periodic with period

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = |cos|

2π

π

π

2

π

4

https://dl.doubtnut.com/l/_55Z2FdNaJa3L
https://dl.doubtnut.com/l/_iqp3TivI4JlJ
https://dl.doubtnut.com/l/_BBdyj7IV0ekM


21. If a funciton f(x) is defined for , then the function f(2x+3) is

defined for

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ∈ [0, 1]

x ∈ [0, 1]

x ∈ [ − 3/2, − 1]

x ∈ R

x ∈ [ − 3/2, 1]

22. the period of the  is

A. 

B. 

C. 

D. none of these

f(x) = sin4 x + cos4 x

π

π/2

2π

https://dl.doubtnut.com/l/_BBdyj7IV0ekM
https://dl.doubtnut.com/l/_2p9zUfekNtNi


Answer: B

Watch Video Solution

23. Which of the following functions is the inverse of itself?


(b) 
 
(d) None of these

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) =
1 − x

1 + x
f(x) = 5logx f(x) = 2x ( x− 1 )

f(x) =
1 − x

1 + x

g(x) = 5logx

h(x) = 2x ( x− 1 )

24. If  , then f(x) isf( − x) = − f(x)

https://dl.doubtnut.com/l/_2p9zUfekNtNi
https://dl.doubtnut.com/l/_a9sIDw31TQ1P
https://dl.doubtnut.com/l/_VS5oGpYzCaqd


A. an even function

B. an odd function

C. neither odd nor even

D. periodic function

Answer: B

Watch Video Solution

25. The value of 
lie in the interval____

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = 3 sin( − x2)
π2

16

[ − π/4, π/4]

[0, 3/√2]

( − 3, 3)

https://dl.doubtnut.com/l/_VS5oGpYzCaqd
https://dl.doubtnut.com/l/_ENQ6PvOZ4SLt


26. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
x − 1

x + 1
f(2x)

f(x) + 1

f(x) + 3

3f(x) + 1

f(x) + 3

f(x) + 3

f(x) + 1

f(x) + 3

3f(x) + 1

27. Given , then fog(x)

equals

A. 

B. 

f(x) = log10( ) and g(x) =
1 + x

1 − x

3x + x3

1 + 3x2

−f(x)

3f(x)

https://dl.doubtnut.com/l/_ENQ6PvOZ4SLt
https://dl.doubtnut.com/l/_4ChS1uG9uIIb
https://dl.doubtnut.com/l/_gmwWtCDVBfFa


C. 

D. none of these

Answer: B

Watch Video Solution

[f(x)]3

28. If  , then f'(x) is

A. an even function

B. an odd function

C. neither even nor odd

D. none of the above

Answer: B

Watch Video Solution

f(x) = 2x6 + 3x4 + 4x2

https://dl.doubtnut.com/l/_gmwWtCDVBfFa
https://dl.doubtnut.com/l/_pL7myBUJguQJ


29. If f(x) is an even function, then the curve y=f(x) is symmetric about

A. x-axis

B. y-axis

C. both the axes

D. none of these

Answer: B

Watch Video Solution

30. If f(x) is an odd function, then the curve y=f(x) is symmetric

A. about x-axis

B. about y-axis

C. about both the axes

D. in opposite quadrants

https://dl.doubtnut.com/l/_mN3cR2i2TARc
https://dl.doubtnut.com/l/_KVUTpRupxmq4


Answer: D

Watch Video Solution

31. Which of the following functions is periodic ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = x + sinx

f(x) = cos √x

f(x) = cos x2

f(x) = cos2 x

32. Let the function  be

defined on the interval [0,1]. The odd extension of f(x) to the interval [-1,1]

is

f(x) = x2 + x + sinx − cos x + log(1 + |x|)

https://dl.doubtnut.com/l/_KVUTpRupxmq4
https://dl.doubtnut.com/l/_LHYnGGNv0cQQ
https://dl.doubtnut.com/l/_W51HBEWZrxP3


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + x + sinx + cos x − log(1 + |x|)

−x2 + x + sinx + cos x − log(1 + |x|)

−x2 + x + sinx − cos x + log(1 + |x|)

33. The domain of definition of the function  , is

A. [3,7]

B. {3,4,5,6,7}

C. {3,4,5}

D. none of these

Answer: C

Watch Video Solution

f(x) = (7 − x)Px− 3

https://dl.doubtnut.com/l/_W51HBEWZrxP3
https://dl.doubtnut.com/l/_D9DopOfoYXSJ


34. The range of function 
 {1,2,3}
 (b) 


(d) 

A. {1,2,3}

B. {1,2,3,4,5,6}

C. {1,2,3,4}

D. {1,2,3,4,5}

Answer: A

Watch Video Solution

f(x) =7 −x Px− 3is {1, 2, 3, 4, 5, 6}

{1, 2, 3, 4} {1, 2, 3, 4, 5}

35. If , then its domain is

A. [-2,6]

B. 

C. 

f(x) = cos − 1( ) + [log10(3 − x)] − 12 − |x|

4

[ − 6, 2) ∪ (2, 3)

[ − 6, 2]

https://dl.doubtnut.com/l/_D9DopOfoYXSJ
https://dl.doubtnut.com/l/_15ANvl2dDDKo
https://dl.doubtnut.com/l/_nYENA5v7HDOr


D. 

Answer: B

Watch Video Solution

[ − 2, 2) ∪ (2, 3]

36. If D is the set of all real x such that  is positive , then D is

equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − e − 11
x

( − ∞, 1]

( − ∞, 0)

(1, ∞)

( − ∞, 0) ∪ (1, ∞)

https://dl.doubtnut.com/l/_nYENA5v7HDOr
https://dl.doubtnut.com/l/_iA3BZyeGomB6


37. Which of the following functions has period  ?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2π

f(x) = sin(2πx + ) + 2 sin(3πx + ) + 3 sin 5πx
π

3

π

4

f(x) = sin + sin
πx

3
πx

4

f(x) = sinx + cos 2x

38. If  which of the following equalities do not hold ? (i) 


 (ii) 

(iii) 
 (iv) 

A. 

B. 

f(x) = ax,

f(x + 2) − 2f(x + 1) + f(x) = (a − 1)2
f(x) f( − x)f(x) − 1 = 0

f(x + y) = f(x)f(y)

f(x + 3) − 2f(x + 2) + f(x + 1) = (a − 2)2
f(x + 1)

f(x + 2) − 2f(x + 1) + f(x) = (a − 1)2
f(x)

f( − x)f(x) + 1 = 0

https://dl.doubtnut.com/l/_u35yL4IEeQgq
https://dl.doubtnut.com/l/_keDwKFQLx7ma


C. 

D. 

Answer: A

Watch Video Solution

f(x + y) = f(x) + f(y)

f(x + 3) − 2f(x + 2) + f(x + 1) = (a − 2)2
f(x + 1)

39. The interval in which the function 

transforms the real line is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = f(x) =
x − 1

x2 − 3x + 3

(0, ∞)

( − ∞, ∞)

[0, 1]

[ − 1/3, 1] − {0}

https://dl.doubtnut.com/l/_keDwKFQLx7ma
https://dl.doubtnut.com/l/_5LXgcgY3ifx9
https://dl.doubtnut.com/l/_7QrieCiY2TDH


40. Let . Then,

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

f(x) = |x − 1|

f(x2) = [f(x)]2

f(|x|) = |f(x)|

f(x + y) = f(x) + f(y)

41. The function  defined by  for  where 

 reduces to a constant function if

A. 

B. 

C. 

D. 

f :C → C f(x) =
ax + b

cx + d
x ∈ C

bd ≠ 0

a = c

b = c

ad = bc

ab = cd

https://dl.doubtnut.com/l/_7QrieCiY2TDH
https://dl.doubtnut.com/l/_gHwYlriHLNmk


Answer: C

Watch Video Solution

42. If f(x)=ax+b and g(x)=cx+d, then f(g(x))=g(f(x)) is equivalent to

A. f(a)=g(c )

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(b) = g(b)

f(d) = g(b)

f(c) = g(a)

43.  Find the domain of the following

function

x + 5(x + 4)
0 .51 + 2(x + 4)

− 0 .5

2 − (x + 4)
0 .5

https://dl.doubtnut.com/l/_gHwYlriHLNmk
https://dl.doubtnut.com/l/_0s87cam193Gq
https://dl.doubtnut.com/l/_QAcuqFedZGiN


A. R

B. (-4,4)

C. 

D. 

Answer: D

Watch Video Solution

R+

( − 4, 0) ∪ (0, ∞)

44. Which of the following functions is not an are not an insjective map(s)

?

A. 

B. 

C. 

D. 

Answer: B

f(x) = |x + 1|, x ∈ [ − 1, ∞)

g(x) = x + , x ∈ (0, ∞)
1

x

h(x) = x2 + 4x − 5, x ∈ (0, ∞)

k(x) = e−x, x ∈ [0, ∞)

https://dl.doubtnut.com/l/_QAcuqFedZGiN
https://dl.doubtnut.com/l/_orelIuHqwXN5


Watch Video Solution

45. The maximum possible domain and thecorresponding range of

A. 

B. D=I( the set of integers ), E=[-1,1]

C. D=R,E=[-1,1]

D. 

Answer: D

Watch Video Solution

f(x) = ( − 1)x

D = R, E = [ − 1, 1]

D = I, E = {
+1  when x = 0 or even

−1  when x is odd 

46. If  is defined on  by the rule  if  is rational ,

 if  is rational ' then for all  ,  is

A. constant

f(x) [0, 1] f(x) = {x, x

1 − x, x x ∈ [0, 1] f(f(x))

https://dl.doubtnut.com/l/_orelIuHqwXN5
https://dl.doubtnut.com/l/_mzwxwiW3IFTT
https://dl.doubtnut.com/l/_7Qes1KRWZLFW


B. 1+x

C. x

D. None of these

Answer: C

Watch Video Solution

47. The function  is :

A. even

B. odd

C. both even and odd

D. None of these

Answer: B

Watch Video Solution

f(x) =
sin4 x + cos4 x

x + tanx

https://dl.doubtnut.com/l/_7Qes1KRWZLFW
https://dl.doubtnut.com/l/_LDXnuu4iuPst
https://dl.doubtnut.com/l/_MRFkssQkFA8p


48. The function , is

A. even

B. odd

C. neither even nor odd

D. periodic with period  .

Answer: B

Watch Video Solution

f(x) =
sec4 x + cos ec4x

x3 + x4 cot x

π

49. Let f(x)=x amd g(x)=|x| for all . Then the function 

 =0 is

A. 

B. 

C. 

D. 

x ∈ R

ϕ(x)satisfying{ϕ(x) − f(x)}
2

+ {ϕ(x) − g(x)}
2

ϕ(x) = x, x ∈ [0, ∞)

ϕ(x) = x, x ∈ R

ϕ(x) = − x, x ∈ ( − ∞, 0]

ϕ(x) = x + |x|, x ∈ R

https://dl.doubtnut.com/l/_MRFkssQkFA8p
https://dl.doubtnut.com/l/_wMvPCuiIMH0x


Answer: A

Watch Video Solution

50. Let  be a function defined by , then the

graph of f(x) lies in the

A. I and II quadrants

B. I and III quadrants

C. II and III quadrants

D. III and IV quadrants .

Answer: A

Watch Video Solution

f :R → R f(x) =
|x|

3
+ |x|

1 + x2

51. Let . Then the , provided that : f(x) =
ax + b

cx + d
fof(x) = x

(a ≠ 0, b ≠ 0, c ≠ 0, d ≠ 0)

https://dl.doubtnut.com/l/_wMvPCuiIMH0x
https://dl.doubtnut.com/l/_LlTeJE7BSPt7
https://dl.doubtnut.com/l/_ozD2wEkFigCI


A. d=-a

B. d=a

C. a=b=c=d=1

D. a=b=1

Answer: A

Watch Video Solution

52. If 
 then find the function 
 such that 

A. 

B. 

C. 

D. 

Answer: D

f(x) = (ax2 + b)
3
, g

f(g(x)) = g(f(x)).

g(x) = ( )

1 / 2
b − x1 / 3

a

g(x) =
1

(ax2 + b)3

g(x) = (ax2 + b)
1 / 3

g(x) = ( )

1 / 2
x1 / 3 − b

a

https://dl.doubtnut.com/l/_ozD2wEkFigCI
https://dl.doubtnut.com/l/_yVTRxHq9wgWD


Watch Video Solution

53. If a funciton  defined by  is a

bijection, then B=

A. R

B. 

C. 

D. 

Answer: B

Watch Video Solution

f : [2, ∞] → B f(x) = x2 − 4x + 5

[1, ∞)

[4, ∞)

[5, ∞)

54. If  then the domain of the function 

 is :

A. 

b2 − 4ac = 0, a > 0

f(x) = log(ax3 + (a + b)x2 + (b + c)x + c)

R − { − }
b

2a

https://dl.doubtnut.com/l/_yVTRxHq9wgWD
https://dl.doubtnut.com/l/_N6TBQYeGkcDe
https://dl.doubtnut.com/l/_TKj33dqJ4Q4Y


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

R − {{ − } ∪ {x|x ≥ − 1|}}
b

2a

R − {{ − } ∩ ( − ∞, − 1]}
b

2a

55. If  then  (A) 

 (B)  (C)  (D) 0

A. 

B. 

C. 1

D. none of these

Answer: B

Watch Video Solution

f(x) = sin(logx) f(xy) + f( ) − 2f(x)cos(logy) =
x

y

cos(logx) sin(logy) cos(log(xy))

−1

0

https://dl.doubtnut.com/l/_TKj33dqJ4Q4Y
https://dl.doubtnut.com/l/_OCzBgt06IBeE


56. The domain of the function  is

A. [1,9]

B. [-1,9]

C. [-9,1]

D. [-9,-1]

Answer: A

Watch Video Solution

f(x) = sin− 1 log3( ))
x

3

57. The domain of the function  , where [x] denotes the

greatest integers less than or equal to x is defined for all x belonging to

A. 

B. 

C. 

f(x) =
sec− 1 x

√x − [x]

R

R − {( − 1, 1) ∪ {n : n ∈ Z}}

R+ − (0, 1)

https://dl.doubtnut.com/l/_OCzBgt06IBeE
https://dl.doubtnut.com/l/_zahJ3tVYPGS7
https://dl.doubtnut.com/l/_Zjdixl1Lzxvv


D. 

Answer: B

Watch Video Solution

R+ − [n : n ∈ N]

58. The domain of definition of the function , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = 3√
2x + 1

x2 − 10 − 11

(0, ∞)

( − ∞, 0)

R − { − 1, 11}

R

https://dl.doubtnut.com/l/_Zjdixl1Lzxvv
https://dl.doubtnut.com/l/_AJMT1w0OQIXJ


59. Let g(x) be a function defined on [-1,1]. If the area of the equilateral

triangle with two of its vertices at (0,0) and  is  , then the

function g(x) , is

A. 

B. 

C.  only

D. 

Answer: B

Watch Video Solution

(x, g(x))
√3

4

±√1 − x2

−√1 − x2 or √1 − x2

√1 − x2

√1 + x2

60. The domain of definition of the function 

 , is

A. 

B. 

f(x) = sin− 1( ) − log10(4 − x)
x − 3

2

1 ≤ x ≤ 5

1 < x < 4

https://dl.doubtnut.com/l/_B6vU8xKsPSKU
https://dl.doubtnut.com/l/_VYOQjtd16h7X


C. 

D. 

Answer: C

Watch Video Solution

1 ≤ x < 4

1 ≤ x ≤ 4

61. The domain of definition of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = sin− 1(|x − 1| − 2)

[ − 2, 0] ∪ [2, 4]

( − 2, 0), ∪ (2, 4)

[ − 2, 0] ∪ [1, 3]

[ − 2, 0] ∪ [1, 3]

https://dl.doubtnut.com/l/_VYOQjtd16h7X
https://dl.doubtnut.com/l/_upuVvBCQ1xA5


62. If  are defined by  and  for 

, where [x] is the greatest integer not ex-ceeding x, then for every

A. x

B. 0

C. f(x)

D. g(x)

Answer: B

Watch Video Solution

f :R → R f(x) = x − [x] g(x) = [x] x ∈ R

x ∈ R, f(g(x)) =

63. The domain of definition  is

A. 

B. 

f(x) = √log0.4( ) ×
x − 1

x + 5

1

x2 − 36

( − ∞, 0) − { − 6}

(0, ∞) − {1, 6}

https://dl.doubtnut.com/l/_fPfMaDzLJerk
https://dl.doubtnut.com/l/_tqjeLSJDoc9O


C. 

D. 

Answer: C

Watch Video Solution

(1, ∞) − {6}

[1, ∞) − {6}

64. The set of all x for which the none of the functions is defined

, is

A. 

B. [-3,2)

C. (-3,2]

D. (-3,-2)

Answer: A

Watch Video Solution

f(x) = log ( x− 1 ) / ( x+ 3 ) 2 and g(x) =
1

√x2 − 9

[ − 3, 2]

https://dl.doubtnut.com/l/_tqjeLSJDoc9O
https://dl.doubtnut.com/l/_az5OONkzY1A3
https://dl.doubtnut.com/l/_lK3lDqQsZYR1


65. If  is defined by  for all , where

[x] denotes the greatest integer function, then  is

equal to

A. Z

B. N

C. 

D. R

Answer: C

Watch Video Solution

f :R → R f(x) = x − [x] −
1
2

x ∈ R

{x ∈ R : f(x) = }
1

2

ϕ

66. The domain of definition of  , is

A. 

B. 

C. 

f(x) = log10 log10…. . log10 x

(10n, ∞)

(10n− 1, ∞)

(10n− 2, ∞)

https://dl.doubtnut.com/l/_lK3lDqQsZYR1
https://dl.doubtnut.com/l/_pEiwHB9wIOjo


D. none of these

Answer: D

Watch Video Solution

67. The domain of the function  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = log10 log10(1 + x3)

( − 1, ∞)

(0, ∞)

[0, ∞)

( − 1, ∞)

https://dl.doubtnut.com/l/_pEiwHB9wIOjo
https://dl.doubtnut.com/l/_u2WJmEmIJthT


68. The domain of definition of the function

 , is

A. 

B. [4,8]

C. 

D. 

Answer: A

Watch Video Solution

f(x) = log2[ − (log2 x)2 + 5 log2 x − 6]

(4, 8)

(0, 4) ∪ (8, ∞)

R − [4, 8]

69. The domain of definition of , is

A. 

B. 

C. 

D. none of these

f(x) = log3|loge x|

(1, ∞)

(0, ∞)

(e, ∞)

https://dl.doubtnut.com/l/_k8TeV7erqePw
https://dl.doubtnut.com/l/_If1qH0gfJptG


Answer: D

Watch Video Solution

70. The domain of definition of the function 

 , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = log3{ − log4( )}
6x − 4
6x + 5

(2/3, ∞)

( − ∞, − 5/6) ∪ (2/3, ∞)

[2/3, ∞)

( − 5/6, 2/3)

71. The domain of definition of the function , isf(X) = x
1

log10 x

https://dl.doubtnut.com/l/_If1qH0gfJptG
https://dl.doubtnut.com/l/_EsRUnOKFIFiA
https://dl.doubtnut.com/l/_5F4fXTDHDbBg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, 1) ∪ (1, ∞)

(0, ∞)

[0, ∞)

[0, 1) ∪ (1, ∞)

72. The domain of the function  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
1

√|cos x| + cos x

[ − 2nπ, 2nπ], n ∈ N

(2nπ, (2n + 1)π), n ∈ Z

((4n + 1) , (4n + 3) ), n ∈ Z
π

2

π

2

((4n − 1) , (4n + 1) ), n ∈ Z
π

2

π

2

https://dl.doubtnut.com/l/_5F4fXTDHDbBg
https://dl.doubtnut.com/l/_vXGULCmWDOGG


73. If the function

 are

identical, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = log(x − 2) − log(x − 3) and g(x) = log( )
x − 2

x − 3

x ∈ [2, 3]

x ∈ [2, ∞)

x ∈ (3, ∞)

x ∈ R

74. The domain of definition of the function

, is

A. 

f(x) = sin− 1( )
4

3 + 2 cos x

[2nπ − , 2nπ + ], n ∈ Z
π

3

π

3

https://dl.doubtnut.com/l/_vXGULCmWDOGG
https://dl.doubtnut.com/l/_TBiv2frhaxn2
https://dl.doubtnut.com/l/_tGPJf8s7emZU


B. 

C. 

D. 

Answer: A

Watch Video Solution

[0, 2nπ + ], n ∈ Z
π

6

[2nπ − , 0], n ∈ Z
π

6

(2nπ − , 2nπ + ), n ∈ Z
π

6

π

6

75. The domain of the function , where [x] denotes

the greatest integer less than or equal to x, is

A. 

B. 

C. 

D. none of these

f(x) = cos − 1[secx]

{x : x = (2n + 1)π, n ∈ Z} ∪ {x : 2mπ ≤ x < 2mπ + , m ∈ Z}
π

3

{x : x = 2nπ, n ∈ Z} ∪ {x : 2mπ < (x = 2nπ), n ∈ Z} ∪ {x : 2mπ <

{x : (2n + 1)π, n ∈ Z} ∪ {x : 2mπ < x < 2mπ + , m ∈ Z}
π

3

https://dl.doubtnut.com/l/_tGPJf8s7emZU
https://dl.doubtnut.com/l/_WYrUD704BYog


Answer: A

Watch Video Solution

76. Let f be a real vlaued fuction with domain R such that

 for all , then ,

A. f(x) is a periodic function with period 8

B. f(x) is a periodic function with period 12

C. f(x) is a non-periodic function

D. f(x) is a periodic function with indeterminate period

Answer: A

Watch Video Solution

f(x + 1) + f(x − 1) = √2f(x) x ∈ R

77. Let  be a real valued function with domain R satisfyingf

f(x + k) = 1 + [(2 − 5f(x) + 10{f(x)}2 − 10{f(x)}3 + 5{f(x)}4 − {f(x

https://dl.doubtnut.com/l/_WYrUD704BYog
https://dl.doubtnut.com/l/_H4E7cWF2zcP5
https://dl.doubtnut.com/l/_uiTJ7PD2XLdH


for all real  and some positive constant , then the period of the

function f(x)

A. a periodic function with period 

B. a periodic function with period  .

C. not a periodic function

D. a periodic function with indeterminate period.

Answer: B

Watch Video Solution

x k

λ

2λ

78. The function f(x) given by  , is

A. periodic with period 

B. periodic with period 

C. periodic with period 

D. not periodic

f(x) =
sin 8x cos x − sin 6x cos 3x

cos x cos 2x − sin 3x sin 4x

π

2π

π/2

https://dl.doubtnut.com/l/_uiTJ7PD2XLdH
https://dl.doubtnut.com/l/_vij8zeac3jcX


Answer: C

Watch Video Solution

79. If f(x) and g(x) are two real functions such that

 , then

A. f(x) is an odd function

B. g(x) is an even function

C. f(x) and g(x) are periodic functions.

D. none of these

Answer: D

Watch Video Solution

f(x) + g(x) = ex and f(x) − g(x) = e−x

80. Let  and . Then
1.

 is an even function
2.  is an odd function
3.  is neither even

f(x) = |x − 2| + |x − 3| + |x − 4| g(x) = f(x + 1)

g(x) g(x) g(x)

https://dl.doubtnut.com/l/_vij8zeac3jcX
https://dl.doubtnut.com/l/_pyIPtpAadcLI
https://dl.doubtnut.com/l/_sMl6tvB2geml


nor odd
4.  is periodic

A. g(x) is an even functions

B. g(x) is an odd function

C. g(x) is neither even nor odd

D. g(x) is periodic .

Answer: C

Watch Video Solution

g(x)

81. If  is the period of the function  is the

period of the function  denotes the greatest integer

function ), then

A. 

B. 

C. 

T1 f(x) = e3 ( x− [x ] ) and T2

g(x) = e3x− [3x ] ([ ⋅ ]

T1 = T2

T1 =
T2

3

T1 = 3T2

https://dl.doubtnut.com/l/_sMl6tvB2geml
https://dl.doubtnut.com/l/_Cilckj5UFmLT


D. none of these

Answer: C

Watch Video Solution

82. If g(x)=tan pi x,` then domain of fog(x) ,

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = √∣∣3
x − 31∣∣ − 2 and

[n + , n + ] ∪ [n + , n + 1], n ∈ Z
1

3

1

2

1

2

(nx + , n + ) ∪ (n + , n + 1), n ∪ Z
1

4

1

2

1

2

(n + , n + ) ∪ [n − , n + 1], n ∈ Z
1

4

1

2

1

2

[n + , x + ) ∪ (n + , n + 2), n ∈ Z
1

4

1

2

1

2

https://dl.doubtnut.com/l/_Cilckj5UFmLT
https://dl.doubtnut.com/l/_KHEt2EOQd2MS


83. Find the range of .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = √sin(cos x) + √cos(sinx)

[√cos 1, √sin 1]

[√cos 1, 1 + √sin 1]

[1 − √cos 1, √sin 1]

84. The domain of the function , is

A. 

B. 

C. 

D. 

f(x) =
sin− 1(x − 3)

√9 − x2

[1, 2)

[2, 3)

[1, 2]

[2, 3]

https://dl.doubtnut.com/l/_4z0F9xfIwNRb
https://dl.doubtnut.com/l/_h1kvB5VhnHNV


Answer: B

Watch Video Solution

85. If are defined by 

 , then the values of x such that 

 are

A. 1,2

B. 

C. 

D. 

Answer: C

Watch Video Solution

f :R → R and g :R → R

f(x) = 2x + 3 and g(x) = x2 + 7

g(f(x)) = 8

−1, 2

−1, − 2

1, − 2

https://dl.doubtnut.com/l/_h1kvB5VhnHNV
https://dl.doubtnut.com/l/_dtOwt88m6r7s


86. Suppose  is defined by

 , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f : [ − 2, 2] → R

f(x) = {
−1  for − 2 ≤ x ≤ 0

x − 1  for 0 ≤ x ≤ 2

{x ∈ [ − 2, 2] : x ≤ 0 and f(|x|) = x} =

{ − 1}

{0}

{ − 1/2}

ϕ

87. If  and  is given by f(x) =|x| and g(x)=[x] for each 

 then 

A. 

B. 

f :R → R g :R → R

x ∈ R {x ∈ R : g(f(x)) ≤ f(g(x))}

Z ∪ ( − ∞, 0)

( − ∞, 0)

https://dl.doubtnut.com/l/_DS8BalRN7D9I
https://dl.doubtnut.com/l/_tDAPoIK7bPeo


C. Z

D. R

Answer: A

Watch Video Solution

88. If 
 are two fixed positive integers such that 


for all real


then prove that 
is periodic and find its period.

A. a

B. 2a

C. b

D. 2b

Answer: B

Watch Video Solution

a, b

f(a + x) = b + [b3 + 1 − 3b2f(x) + 3b{f(x)}2 − {f(x)}3]
1
3

x, f(x)

https://dl.doubtnut.com/l/_tDAPoIK7bPeo
https://dl.doubtnut.com/l/_CPobftatVivt


89. The domain of the function  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = log3 +x(x
2 − 1)

( − 3, − 1) ∪ (1, ∞)

[ − 3, − 1) ∪ [1, ∞)

( − 3, − 2) ∪ ( − 2, − 1) ∪ (1, ∞)

[ − 3, − 2) ∪ ( − 2, − 1) ∪ [1, ∞)

90. Period of  (where[] denotes the

greatest integer function), is

A. 

B. 

C. 

f(x) = sin 3x cos[3x] − cos 3x sin[3x]

1
2

1

3

1

https://dl.doubtnut.com/l/_CPobftatVivt
https://dl.doubtnut.com/l/_6TcPawKTd0iB
https://dl.doubtnut.com/l/_8THyUru8JMuA


D. 

Answer: B

Watch Video Solution

3

91. Let . Then,

A. f(g(x)) and g(f(x)) have different domains

B. f(g(x)) and g(f(x)) have same domain

C. g(f(x)) is a bijective mapping

D. f(g(x)) is neither odd or even.

Answer: B

Watch Video Solution

f(x) = and g(x) =
1

x

1

√x

https://dl.doubtnut.com/l/_8THyUru8JMuA
https://dl.doubtnut.com/l/_6NLky91K4OSu


92. Domain of

 is

A. 

B. 

C. {1,3}

D. {1}

Answer: D

Watch Video Solution

(√s2 − 4x + 3 + 1)log5 ( ) + (√8x − 2x2 − 6 + 1) ≤ 1
x

5

1

x

( − ∞, 1] ∪ [3, ∞)

[1, 3]

93. The period of the function 

, 

is ( where {x} denotes the functional part of x)

A. 1

B. 

f(x) = cos 2π{2x} + sin 2π{2x}

π

2

https://dl.doubtnut.com/l/_guUjjOiT8bt9
https://dl.doubtnut.com/l/_KWdjpySuZSFf


C. 

D. 

Answer: C

Watch Video Solution

1

2

π

94. If  for all 

, then  is equal to

A. 3

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(n + 2) = {f(n + 1) + }, n ∈ N and f(n) > 0
1

2

9

f(n)

n ∈ N lim
n→ ∞

f(n)

−3

1

2

https://dl.doubtnut.com/l/_KWdjpySuZSFf
https://dl.doubtnut.com/l/_ySv7NeFGYDYZ
https://dl.doubtnut.com/l/_zgjla4IHOP34


Chapter Test

95. Let

. Then ,

A. f(x) is an odd function

B. f(x) is an even function

C. f(x) is neither odd nor even

D. none of these

Answer: A

Watch Video Solution

f(x) = {(x2 sin( ), − 1 < x < 1, x ≠ 0), (x|x|, x > 1 or x ≤ − 1)
πx

2

1. The period of the function , is

A. 

f(x) = sin4 3x + cos4 3x

π/2

https://dl.doubtnut.com/l/_zgjla4IHOP34
https://dl.doubtnut.com/l/_aIbrzBx4Jkax


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

π/3

π/6

2. The value of integer n for which the function  has 

its period is

A. 2

B. 3

C. 5

D. 4

Answer: A

Watch Video Solution

f(x) =
sinx

sin( )x
n

4π

https://dl.doubtnut.com/l/_aIbrzBx4Jkax
https://dl.doubtnut.com/l/_1gmwg1kdzUFA


3. The period of the function , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) = sin( )
2x + 3

6π

2π

6π

6π2

4. The domain of the function 

A. 

B. 

C. 

f(x) = √log( )
1

|sinx|

R − { − π, π}

R − {nπ ∣ n ∈ Z}

R − {2nπ ∣ n ∈ z}

https://dl.doubtnut.com/l/_1gmwg1kdzUFA
https://dl.doubtnut.com/l/_hGoC6VqATO3u
https://dl.doubtnut.com/l/_ni05qe87hFLR


D. 

Answer: B

Watch Video Solution

( − ∞, ∞)

5. Domain of the function 

A. [4,6]

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = log(√x − 4 + √6 − x)

( − ∞, 6)

(2, 3)

6. Let  then domain  containsf(x) =
√sinx

1 + 3√sinx
f

https://dl.doubtnut.com/l/_ni05qe87hFLR
https://dl.doubtnut.com/l/_OfjDt1MwgecS
https://dl.doubtnut.com/l/_kDEjnhr7YwbH


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, π)

( − 2π, − π)

(3π, 4π)

(4π, 6π)

7. If  is defined by  for , where [x] is

the greatest integer not exceeding x, then the range of f is

A. [0,1]

B. {0,1}

C. 

D. 

Answer: B

f :R → R f(x) = [2x] − 2[x] x ∈ R

(0, ∞)

( − ∞, 0]

https://dl.doubtnut.com/l/_kDEjnhr7YwbH
https://dl.doubtnut.com/l/_fBvbvXGeBNET


Watch Video Solution

8. If  denotes the set of all positive integers and if  is defined

by  the sum of positive divisors of  then , where k is a

positive integer is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N f :N → N

f(n) = n f(2k ⋅ 3)

2k+ 1 − 1

2(2k+ 1 − 1)

3(2k+ 1 − 1)

4(2k+ 1 − 1)

9. The set of value of a for which the function 

defined on [-2,2] lies an odd function , is

f(x) = sinx + [ ]
x2

a

https://dl.doubtnut.com/l/_fBvbvXGeBNET
https://dl.doubtnut.com/l/_UnACEyzNk3nE
https://dl.doubtnut.com/l/_v6a4ajhBGCHp


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(4, ∞)

[ − 4, 4]

( − ∞, 4)

10. If 

A. 

B. 

f(x) =
⎧⎪
⎨
⎪⎩

−1 x < 0

0 x = 0 and g(x) = x(1 − x2), then

1 x > 0

fog(x) = {( − 1, − 1 < x < 0 or x > 1), (0, x = 0, 1, − 1), (1, 0 <

fog(x) = {( − 1, − 1 < x < 0), (0, x = 0, 1, − 1), (1, 0 < x < 1)

https://dl.doubtnut.com/l/_v6a4ajhBGCHp
https://dl.doubtnut.com/l/_M9bkHc42JjAQ


C. 

D. 

Answer: C

Watch Video Solution

fog(x) = {( − 1, − 1 < x < 0 or x > 1), (0, x = 0, 1, − 1), (1, 0 <

fog(x) = {( − 1, x < 0 or x > 1), (0, x = 0, 1, − 1), (1, 0 < x < 1

11. Find the equivalent definition of

A. 

B. 

C. 

D. none of these

f(x) = max

.

x2, ( − x)
2
, 2x(1 − x)whre0 ≤ x ≤ 1

f(x) =
⎧⎪
⎪
⎨
⎪
⎪⎩

x2 0 ≤ x ≤ 1/3

2x(1 − x) 1/3 ≤ x ≤ 2/3

(1 − x)2 2/3 ≤ x ≤ 1

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

(1 − x)
2

0 ≤ x ≤ 1/3

2x(1 − x) 1/3 ≤ x ≤ 2/3

x2 2/3 ≤ x ≤ 1

f(x) = {
x2 0 ≤ x ≤ 1/2

(1 − x)2 1/2 ≤ x ≤ 1

https://dl.doubtnut.com/l/_M9bkHc42JjAQ
https://dl.doubtnut.com/l/_Rx9hpYcnIvvF


Answer: B

Watch Video Solution

12. If f(x) is defined on [0,1], then the domain of  , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(3x2)

[0, 1/√3]

[ − 1/√3, 1/√3]

[ − √3, √3]

13. The function 
is defined in 
. Find the domain of 

A. 

f(x) [0, 1] f(tanx).

[nπ, nπ + π/4], n ∈ Z

https://dl.doubtnut.com/l/_Rx9hpYcnIvvF
https://dl.doubtnut.com/l/_Z8K0q7r27LHY
https://dl.doubtnut.com/l/_Kv3wa4N9VjfM


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

[2nπ, 2nπ + π/4], n ∈ Z]

[nπ − π/4, nπ + π/4], n ∈ Z]

14. The domain of definition of the real function  of the

real variable x, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = √log12 x
2

x > 0

|x| > 1

|x| > 4

x > 4

https://dl.doubtnut.com/l/_Kv3wa4N9VjfM
https://dl.doubtnut.com/l/_fAz6U3J6HQEW


15. The values of 
 for which the identity of 


 is satisfied, where 


(b) 
 
(d) 

A. b=2,c=1

B. b=4,c=-1

C. b=-1,c=4

D. b=-1,c=1

Answer: B

Watch Video Solution

bandc

f(x + 1) − f(x) = 8x + 3 f(x) = bx2 + cx + d, are

b = 2, c = 1 b = 4, c = − 1 b = − 1, c = 4 b = − 1, c = 1

16. The function  is periodic with

period

A. 6

f(x) = sin + 2 cos − tan
πx

2
πx

3
πx

4

https://dl.doubtnut.com/l/_fAz6U3J6HQEW
https://dl.doubtnut.com/l/_FiQUykq5kpkS
https://dl.doubtnut.com/l/_cRq4y0eLJDQa


B. 3

C. 4

D. 12

Answer: D

Watch Video Solution

17. The period of the function , is

A. 4

B. 6

C. 12

D. 24

Answer: A

Watch Video Solution

sin( ) + cos( )
πx

2
πx

2

https://dl.doubtnut.com/l/_cRq4y0eLJDQa
https://dl.doubtnut.com/l/_5I7oY2pYkNXl
https://dl.doubtnut.com/l/_sn6Y4d0kmqJh


18. The equivalent definition of

 , is

A. 

B. 

C. 

D. none of these

Answer: A

View Text Solution

f(x) = max . { − 1∣∣1 − x2, 2∣∣x
∣
∣
∣

− 2, 1 −
∣
∣
∣
x ∣ }

7
2

{( − 2x + 2, x − 1), (x2 − 1, − 1 ≤ x < 1/2), (1 + 7x/22, − 1/2

{( − 2x − 2, x < − 1), ( − x2 − 1, − 1 ≤ x < 1/2), (1 + 7x/22, −

{( − 2x + 2, x ≤ − 1), (x2 − 1), − 1 ≤ x < 0), (1 + 7x, 0 ≤ x < )

19. If , then  is equal tox ∈ R f(x) = sin− 1( )
2x

1 + x2

https://dl.doubtnut.com/l/_sn6Y4d0kmqJh
https://dl.doubtnut.com/l/_seHuuLyfXSgG


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 tan− 1 x

⎧⎪
⎨
⎪⎩

−π − 2 tan− 1 x −∞ < x < − 1

2 tan− 1 x −1 ≤ x ≤ 1

π − 2 tan− 1 x 1 < x < ∞
⎧⎪
⎨
⎪⎩

−π − 2 tan− 1 x −∞ < x < − 1

2 tan− 1 x −1 ≤ x ≤ 1

π − 2 tan− 1 x 1 < x < ∞
⎧⎪
⎨
⎪⎩

−π + 2 tan− 1 x −∞ < x ≤ − 1

2 tan− 1 x −1 < x < 1

π − 2 tan− 1 x 1 ≤ x < ∞

20. If  , then  is equal to

A. 

B. 

C. 

D. none of these

x ∈ R f(x) = cos − 1( )
1 − x2

1 + x2

2 tan− 1 x

{
2 tan− 1 x x ≥ 0

−2 tan− 1 x x ≤ 0

{
π + 2 tan− 1 x x ≥ 0

−π + 2 tan− 1 x x ≤ 0

https://dl.doubtnut.com/l/_seHuuLyfXSgG
https://dl.doubtnut.com/l/_Zc9GKtvicyhR


Answer: B

Watch Video Solution

21. The equivalent definition of the function

 , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

f(x) = lim
n→ ∞

, x > 0
xn − x−n

xn + x−n

f(x) = {
−1 0 < x ≤ 1

1 x > 1

f(x) = {
−1 0 < x < 1

1 x ≥ 1

f(x) =
⎧⎪
⎨
⎪⎩

−1 0 < x < 1

0 x = 1

1 x > 1

22. Find the domain of log10(1 − log10(x
2 − 5x + 16))

https://dl.doubtnut.com/l/_Zc9GKtvicyhR
https://dl.doubtnut.com/l/_zxgwFWqj4EYh
https://dl.doubtnut.com/l/_GKYJCE3qoK2K


A. (1,3)

B. (2,3)

C. [2,3]

D. none of these

Answer: B

Watch Video Solution

23. The domain of definition of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = log0.5{ − log2( )}
3x − 1

3x + 2

( − ∞, − 1/3)

( − 1/3, ∞)

(1/3, ∞)

[1/3, ∞)

https://dl.doubtnut.com/l/_GKYJCE3qoK2K
https://dl.doubtnut.com/l/_MZU41AAYsqvt


24. The domain of definition of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) = √
log0.3|x − 2|

|x|

[1, 2) ∪ (2, 3]

[1, 3]

R − (1, 3]

25. The domain of the function

 is

A. 

B. 

y = √log10(log10 x) − log10(4 − log10 x) − log10 3  

(103, 104)

[103, 104]

https://dl.doubtnut.com/l/_MZU41AAYsqvt
https://dl.doubtnut.com/l/_Egmp5nV2eQVk
https://dl.doubtnut.com/l/_CUGeKrXZjqTF


C. 

D. 

Answer: C

Watch Video Solution

[103, 104)

(103, 104]

26. The function  is defined for all

belonging to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f(x) = log2x− 5(x
2 − 3x − 10)

[5, ∞)

(5, ∞)

( − ∞, + 5)

https://dl.doubtnut.com/l/_CUGeKrXZjqTF
https://dl.doubtnut.com/l/_HImVljixajtU
https://dl.doubtnut.com/l/_lFdo430GoSbQ


27. The domain of definition of , where 

, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = log1.7 ( )
1 / 22 − ϕ' (x)

x + 1

ϕ(x) = − x2 − 2x +
x3

3

3

2

3

2

( − ∞, − 4)

( − 4, ∞)

( − ∞, − 1) ∪ ( − 1, 4)

( − ∞, − 1) ∪ ( − 1, 4)]

28. The domain of definition of , is

A. 

B. 

C. 

D. none of these

f(x) = log100x( )
2 log10 x + 1

−x

(0, 10− 2) ∪ (10− 2, 10− 1 / 2)

(0, 10− 1 / 2)

(0, 10− 1)

https://dl.doubtnut.com/l/_lFdo430GoSbQ
https://dl.doubtnut.com/l/_Gm8djIZYKYlw


Answer: A

Watch Video Solution

29. The value of x for which  is a

real number are

A. [0,1]

B. (0,1)

C. 

D. none of these

Answer: B

Watch Video Solution

y = log2{ − log1 / 2(1 + ) − 1}
1

x1 / 4

[1, ∞)

30. Find the domain of the function

f(x) = log10((log10 x
2) − 5 log10 x + 6)

https://dl.doubtnut.com/l/_Gm8djIZYKYlw
https://dl.doubtnut.com/l/_Rq9OnvYqx5Zm
https://dl.doubtnut.com/l/_FNh3qUFXsmcb


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, 102)

(103, ∞)

(102, 103)

(0, 102) ∪ (103, ∞)

31. Domain of the function f(x) = 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(x + 0. 5)
log ( 0 .5 +x )( ))

x2 + 2x − 3

4x2 − 4x − 3

( − 1/2, 1)

( − 1/2, 1/2) ∪ (1/2, 1) ∪ (3/2, ∞)

( − 1/2 − 1)

https://dl.doubtnut.com/l/_FNh3qUFXsmcb
https://dl.doubtnut.com/l/_Cbw8rlYvCnkG


32. Domain of definition of the function 

is (A)  (B)  (C) (1,2) (D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = + log10(x
3 − x)

3

4 − x2

( − 1, 0) ∪ (1, 2) ∪ (2, ∞) ( − 1, 0) ∪ (1, 2)

(1, 2) ∪ (2, ∞)

( − 1, 0) ∪ (1, 2) ∪ (2, ∞)

(1, 2)

( − 1, 0) ∪ (1, 2)

(1, 2) ∪ (2, ∞)

33. The equivalent definition of , is

A. 

f(x) = ||x| − 1|

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

−x − 1 x ≤ − 1

x + 1 −1 < x ≤ 0

1 − x 0 ≤ x ≤ 1

x − 1 x ≤ 1

https://dl.doubtnut.com/l/_Cbw8rlYvCnkG
https://dl.doubtnut.com/l/_8B9YA9SF59gA
https://dl.doubtnut.com/l/_00xHLFQ3iOV9


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

x − 1 x ≤ − 1

x + 1 −1 < x ≤ 0

x − 1 0 ≤ x ≤ 1

x + 1 x ≥ 1

f(x) = {
x + 1 x ≥ 0

x + 1 x ≤ 0

34. If , then fof(x) equals

A. 

B. 

C. 

D. none of these

Answer: A

f(x)||x| − 1|

f(x) =
⎧⎪
⎨
⎪⎩

|x| − 2 |x| ≤ 2

2 − |x| 1 < |x| < 2

|x| |x| ≤ 1

f(x) =

⎧⎪
⎨
⎪⎩

|x| + 2 |x| ≤ 2

|x| − 2 1 ≤ |x| ≤ 2

|x| |x| ≤ 1

f(x) =
⎧⎪
⎨
⎪⎩

|x| + 2 |x| ≥ 2

2 + |x| 1 ≤ |x| ≤ 2

|x| |x| ≤ 1

https://dl.doubtnut.com/l/_00xHLFQ3iOV9
https://dl.doubtnut.com/l/_6zc6Kmvz8v4N


Watch Video Solution

35. 

Sketch the graph of  and discuss its differentiability

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = x2 − 2|x|, g(x) = min f(t) : 0 ≤ t ≤ x, − 2 ≤ x ≤ 0 and max f

g(x)

⎧⎪⎪⎪⎪
⎨
⎪⎪⎪⎪⎩

x2 − 2x −2 ≤ x ≤ − 1

−1 1 ≤ x < 0

0 0 ≤ x2

x2 + 2x 2 ≤ x ≤ 3

⎧⎪⎪⎪⎪
⎨
⎪⎪⎪⎪⎩

x2 + 2x −2 ≤ x ≤ − 1

−1 −1 ≤ x < 0

0 0 ≤ x < 0

x2 − 2x 1 ≤ x ≤ 3

{
x2 + 2x −2 ≤ x ≤ − 0

x2 − 2x 0 ≤ x ≤ 3

⎧⎪
⎨
⎪⎩

x2 + 2x −2 ≤ x ≤ 0

0 0 ≤ x < 2

x2 − 2x 2 ≤ x ≤ 3

https://dl.doubtnut.com/l/_6zc6Kmvz8v4N
https://dl.doubtnut.com/l/_b6zmJDYAfhAB


36. Find the range of 
where `-oo

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = sec( cos2 x),
π

4

[1, √2]

[1, ∞)

[ − √2, − 1] ∪ [1, √2]

( − ∞, − 1] ∪ [1, ∞)

37. The period of , is

A. 

B. 

C. 

D. none of these

f(x) = sin( ) + cos( ), n ∈ Z, n > 2
πx

n − 1
πx

n

2nπ(n − 1)

4(n − 1)π

2n(n − 1)

https://dl.doubtnut.com/l/_7yetFSD9npPf
https://dl.doubtnut.com/l/_rfb2Vv2VzwrH


Answer: C

Watch Video Solution

38. The function , is

A. periodic with period 

B. an odd function

C. not expressible as the sum of an even function and an odd function

D. none of these

Answer: A

Watch Video Solution

f(x) = ( )
sin x

1
2

2π

39. If 
 and 
 represetnt the integral and fractional parts of 

respectively, then the value of 
 is
 
 (b) 
 (c) 
 (d) 

[x] {x} x,

2000

∑
r= 1

{x + r}

2000
x [x] {x}

x + 2001

https://dl.doubtnut.com/l/_rfb2Vv2VzwrH
https://dl.doubtnut.com/l/_ewjLlnBPzNgT
https://dl.doubtnut.com/l/_w1PJrlXyO7le


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x
2001

2

x + 2000

x

[x] +
2001

2

40. Let . Then , f(x) is

A. an even function

B. an odd function

C. neither an even function nor an add function

D. f'(x) is an even function

Answer: B

f(x) =

⎧⎪
⎨
⎪⎩

0 x = 0

x2 sinπ/2x |x| < 1

x|x| |x| ≥ 1

https://dl.doubtnut.com/l/_w1PJrlXyO7le
https://dl.doubtnut.com/l/_U5rwkn5lB7wW


Watch Video Solution

41. Let  Then the value of x satisfying 

 are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = x + 1 and ϕ(x) = x − 2.

|f(x) + ϕ(x)| = |f(x)| + |ϕ(x)|

( − ∞, 1]

[2, ∞)

( − ∞, − 2]

[1, ∞)

42. The domain of definition of the function , is

A. 

B. 

f(x) = tan( )
π

[x + 2]

[ − 2, 1]

( − 2, − 1)

https://dl.doubtnut.com/l/_U5rwkn5lB7wW
https://dl.doubtnut.com/l/_nz0vR6r1NIde
https://dl.doubtnut.com/l/_BN3XflqSSHZz


C. 

D. none of these

Answer: D

Watch Video Solution

R − [ − 2, − 1]

43. The range of the function  ,is

A. [0,1]

B. (-1,0)

C. [-1,1]

D. (-1,1)

Answer: C

Watch Video Solution

f(x) = sin{log10( )}
√4 − x2

1 − x

https://dl.doubtnut.com/l/_BN3XflqSSHZz
https://dl.doubtnut.com/l/_CMoeS04u7l9Y


44. The range of the function 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y =
x + 2

x2 − 8x + 4

( − ∞, − ] ∪ [ − , ∞)
1

4

1

20

( − ∞, − ) ∪ ( − , ∞)
1

4

1

20

( − ∞, − ] ∪ ( − , ∞)
1

4

1

20

45. The range of the function

 when , is

A. (0,1)

B. R

C. (-2,2)

D. none of these

f(x) = 1 + sinx + sin3 x + sin5 x + …… x ∈ ( − π/2, π/2)

https://dl.doubtnut.com/l/_mbuk1ZEA7oyR
https://dl.doubtnut.com/l/_Npgj06GQAv9i


Answer: B

Watch Video Solution

46. The period of the function  , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = |sin 3x| + |cos 3x|

π

2

π

6

3π

2

π

47. The function , is

A. periodic with period 1

f(x) = {
1 x ∈ Q

0 x ∉ Q

https://dl.doubtnut.com/l/_Npgj06GQAv9i
https://dl.doubtnut.com/l/_urTze3HcRIw3
https://dl.doubtnut.com/l/_z9uECGxJnviE


B. periodic with period 2

C. not periodic

D. periodic with indetermine period .

Answer: D

Watch Video Solution

48. Which of the following functions has period  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

| − tanx| + cos 2x

2 sin + 3 cos
πx

3

2πx

3

6 cos(2πx + ) + 5 sin(πx + )
π

4

3π

4

|tan 2x| + |sin 4x|

https://dl.doubtnut.com/l/_z9uECGxJnviE
https://dl.doubtnut.com/l/_lQIqSIn8GKis
https://dl.doubtnut.com/l/_ydyznUUZQUTq


49. The function  , is

A. periodic with period 1

B. periodic with period 2

C. periodic with indeterminate period

D. not- periodic

Answer: D

Watch Video Solution

f(x) = x[x]

50. If  and  are periodic functions with the same fundamental

period where  and , then

 is equal to (1) 0
(2) 2
(3) 4
(4) 8

A. 0

B. 1

C. 2

f(x) g(x)

f(x) = sinαx + cosαx g(x) = |sinx| + |cos x|

α

https://dl.doubtnut.com/l/_ydyznUUZQUTq
https://dl.doubtnut.com/l/_Pb7URv9TuuPg


D. 4

Answer: D

Watch Video Solution

51. The range of the function , where 

 denotes the greatest integer function , is

A. 

B. {-pi/2} and {pi/2}

C. 

D. 

Answer: B

Watch Video Solution

f(x) = cos ec− 1[sinx]  in [0, 2π]

[ ⋅ ]

[0, π/2) ∪ (π, 3π/2]

(0, π] ∪ {3π/2}

(π/2, π) ∪ (3π/2, 2π)

https://dl.doubtnut.com/l/_Pb7URv9TuuPg
https://dl.doubtnut.com/l/_kD1OEebeIFID


52. If  is defined for all  , then the

value of  can be

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

f(sinx) − f( − sinx) = x2 − 1 x ∈ R

x2 − 2

−1

53. Let  be a function given by 

 


Then , the range of f(x) is

A. 

B. 

f : [π, 3π/2] → R

f(x) = [sinx] + [1 + sinx] + [2 + sinx]

{0, 3}

{1}

https://dl.doubtnut.com/l/_XrOcyfahTsBM
https://dl.doubtnut.com/l/_3YMmKoAJvvo5


C. 

D. 

Answer: A

Watch Video Solution

{0, 2}

{3}

54. Let the function  be defined on the

interval [0,1]. The even extension of f(x) to the interval [0,1]. The even

extension of f(x) to the interval [-1,1] is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

f(x) = 3x2 − 4x + 5 log(1 + |x|)

3x2 + 4x + 8 log(1 + |x|)

3x2 − 4x + 8 log(1 + |x|)

3x2 + 4x − 8 log(1 + |x|)

https://dl.doubtnut.com/l/_3YMmKoAJvvo5
https://dl.doubtnut.com/l/_eFzZHnEzOcAC


55. If  is defined by  its even

extension to  is given by :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f : [ − 4, 0] → R f(x) = ex + sinx,

[ − 4, 4]

−e |x | − sin|x|

e− |x | − sin|x|

e− |x | + sin|x|

−e− |x | + sin |x |

56. Which one of the following is not periodic ?

A. 

B. 

C. 

|sin 3x| + sin2 x

cos √x + cos2 x

cos 4x + tan2 x

https://dl.doubtnut.com/l/_eFzZHnEzOcAC
https://dl.doubtnut.com/l/_SV4G2lrvWotw
https://dl.doubtnut.com/l/_45FsRGCNizyd


D. 

Answer: B

Watch Video Solution

cos 2x + sinx

57. The domain of the function , is

A. [2,4]

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =
sin− 1(3 − x)

loge(|x| − 2)

(2, 3) ∪ (3, 4]

[2, 3)

( − ∞, − 3) ∪ [2, ∞)

58. The domain of  , isf(x) = log|loge x|

https://dl.doubtnut.com/l/_45FsRGCNizyd
https://dl.doubtnut.com/l/_91pw0HkCRic1
https://dl.doubtnut.com/l/_TSkPZdLDHX03


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(0, ∞)

(1, ∞)

(0, 1) ∪ (1, ∞)

( − ∞, 1)

59. The period of  , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin2 θ

π2

π

2π

π/2

https://dl.doubtnut.com/l/_TSkPZdLDHX03
https://dl.doubtnut.com/l/_BcukETF0cwta


60. The domain of the function , where

the symbols have their usual meanings, is the set

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = 16 −xC2x− 1 +20 − 3x P4x− 5

{2, 3}

{2, 3, 4}

{1, 2, 3, 4}

{1, 2, 3, 4, 5}

https://dl.doubtnut.com/l/_BcukETF0cwta
https://dl.doubtnut.com/l/_9tnybQ6YWHlS

